VERTEX AUTOMATION TECH CO.,LTD

Wechat:0086 13147071018
Skype: 0086 13147071018
Whatsapp: 0086 17722408906
Email:bobo@7vertex.com
Website:www.7vertex.com
Add:Shenzhen, China

te

Your best supplier of automated equipment

~mEEH

PRODUCT BROCHURE

VERTEX AUTOMATION TECH CO.,LTD



COMPANY INTRODUCTION
0| A1y

Vertex Automation Tech Co., Ltd Founded in 2001, is an ISO-9001:2015 certified company
headquartered in Shenzhen, Mainland China. We have 15 years of experience in manufacturing
single—-axis robots, multi-axis robots, ball screws, linear guides, and other automation equipment.We
have a highly skilled and experienced development team and a strict quality control system, so our
customers are very satisfied with our products.

Vertex Automation Tech is one of the largest manufacturers of automation equipment in China. Our
company covers an area of 3,5000 square meters . We strengths lie in precision control and stable
product quality.

Currently, our products have been exported to more than 50 countries and regions around the world,
including Europe, North America, South America and Southeast Asia.

Excellent quality, competitive price, timely delivery and satisfactory service are the long term tenets
of our company. We are looking forward to cooperating with you.

PRODUCT CATALOG
FmBR

Single—Axis RObDOt CK Serigs:«+++rrrrrrrrrrrrrrrrrrrrrrreiieieeiennn.. 01
CK20 SEIES +++vrrrrrrrrrrarraraerastesseneeseiteiseeeseeseissieetesneeneanns 10
CK30 SEIES ++vrrrrrrrarrarsaraerantetteseteieeisenteneeseiesieseeneenennas 11
CIKAD SEI@S +++vrrrrrrrrrrrensrssssssessesnresesseessensssssessensesnsanees 12
CKBED SEIES ++vrrrrrerrrrrrensssssassesesneessesseesesnessssessesennsenees 16
CIKBO SEIES ++vrrevrerrrrrrenseserantesesneessessesseeeeissenseseeneanees o5
CIKBB SEIES ++vrrevrerrerrransesaeestenteinteteeeteeseeeeiesensenseeneanens 43
CKI00 SEIES  ++rrrrrorrerreraaresrastensaseiresenseneeseissieeeeneeneenns 61

CK" 30 Serles ............................................................... 62



VE {EX VERTEXAUTOMATION TECH CO.,LTD

Single—Axis Robot CK Series

The VERTEX CK single—axis robot is driven by a ballscrew while a guideway slides on an optimized U-rail to

achieve higher accuracy and greater stiffness.

CK Tl \EZRSESTRAN IR, BRRIETNEGERNESE—E , B REEESHERER . T,

NI RN DETEEEHMT.
EHSEERRBTHOMEING , LIREERENRITZ U BHEMASS S , FREESNIEZFK.

1.1 Features 434

© An integrated system O RITNELESRS
© Easy installation and maintenance o RIRNESEE
© Compact and lightweight ° SBE

© High accuracy o EMItE

© High stiffness o FL&EE

© Complete line of accessories o FIEHIRItT

The structure of rail is analyzed by FEA to get the best rigidity and weight.
The analysis results are shown as the right figures.
HBEEEBEERTEATEERFNIESESE, TG EmA

Grease nipple

Block /WS
B
End seal

BmA

Tail housing

R

Ballscrew

VERTEX CK RIRRIR

=

g

1.1.1 Modulization #&£8{t,

The CK single-axis robot integrating a ballscrew and guideway forms a modularized product. The modularized
design can help customers save time, cost and system inspection. Therefore, installation efficiency and a
spacesaving design are also promoted.

CK LUz AEE BB 2T, BEREEBTNEEEN, I nalAEaSEFEaRmES S5 FIRNTTH 2 &
LRI AR LTEFRS . B CK TS ATRERERIEA,. ©&. ARIEE. SRS, TR
EFimhYER=ESEYE.

Traditional linear stage €44 4F & CK single—axis robotCK TAlI#128 A
1Table + & 1 Ballscrew + RERIZAF

2 Guideways + 483 1 Rail S0
1 Ballscrew + ;RERIZFT
1 Base EEE

1.1.2 Equivalent Load P95 @A

The gothic arch contact design sustains load from all / 5 - \
directions and offers high rigidity and accuracy 5 L @ = s
HEMBRZBNEIRRES, HRKSIHREREMERA 2
FIRTEFE L B, B 45 EERAEE, 2ai s | o

{18 CK T2 A BRI B a2 b2 e

1.1.3 High Stiffness SRt

Using finite element analysis on the U-shaped cross section allows the volume and rigidity to be made
balanced, therefore, a high rigidity rail, compact design and a light weight design are also accomplished
simultaneously.

HIBMERA U B, FEIERTESTIERNRTT, EARRSRIM FESFE R, FEMEEESRIME. RIUEE .

B8RFHIE.

Moment of inertia &4 Unit 84z: mm*
Y axis
Model no. B= Ix ly |

3 4
CK40 3.533x10 5.317x10 Q Center of gravity
CK50 9.6x10° 1.34x10°
CK60 2.056x10° 2.802x10°
CK86 7.445x10° 1.134x10°
CK100 1.296x10° 2.035x10° - -— Xaxis
CK130 2.546x10° 5.073x10°

lIx : Moment of inertia computed about X axis fEZ X i {&145E
lly: Moment of inertia computed about Y axis 3£ Y i 12 e

Single—Axis Robot CK Series s



VE LEX VERTEX AUTOMATION TECH CO.,LTD

1.1.4 Various Specification &2k

CK single-axis robots of various specifications are developed, providing customers with different choices
relating to space and loading conditions.
FUSHMARNERSEK, FFAETIIZH CK TUzEA, RBEEFPEERSR. =68, faFskiER.

Model no. = W H ( T T y
CK40 40 20 AN (}
<= <7
CK50 50 26
u
CK60 60 33 \'\\;}
i _/n//r
CK86 86 46 P T
TT T
CK100 100 55 ‘ ‘ |
CK130 130 65 ‘ W

1.2 Accessories &M

Accessories of CK single-axis robot are also supported for specific demands, such as an aluminum cover,
bellows, motor adaptor flange and limit switchs.

NERNEFRYERFRK, CK TUWRARTSINAEIEFE. BEFE. DRiERE= RIRFAFX.

© Aluminum cover and bellow: contamination protection

© Motor adaptor flange: connection for different types of motors

© Limit switchs: starting point, positioning and other safety matters

O fRIFE. BFEIFE: oIS . AN CK Tss A M nEFERES. BE. mE

O BiAEEE=: TEEMARSAHMER CK TUMssAZ L

O RPRFFX: IREBIEN. BilERLARELILESBIE TR 22 H

Aluminum cover
ioEak-

Motor housing

ik

Fitting plate
EETE

Motor adaptor flange
OikEREE=

RipEE
eCover

1.3 Model Number of CK Series 7=

Single—Axis Robot CK Series s

{HgERER
*Bellows

[ =
s

CK6010P E-400 EA 2 E-FO C S0-M

Series

Nominal Width

(20. 30. 40. 50.

60. 86. 100. 130)

Lead
CK20:1
CK30:2
CK40:2
CK50:2. 6
CK60:5. 10
CK86:5.
10. 20
CK100:20
CK130:25

Precision
Grade:
P:Precision
C: Normal

E:Ballscrew
Special Order
None: Normal
Type

Rail Length mm:

CK20:60. 100. 140
CK30:100. 150. 200
CK40:100. 150, 200

Motor speci-
fication:
M:customer
specified
None: With-
out Motor

Limit Switch:

S0: Switch Rail Only
S1:0mron EE-SX671
S4: Omron EE-
SX674

SE:Sensor Special
Order

None: No Limit Switch
and Switch Rail

C: Aluminum Cover
B: Bellows
None:Normal Type

Motor Adaptor Flange:
HO: Flange Special Order
FO: Direct

FD: Bottom

FL: Left

FR: Right

NO motor housing

E: Block Special Order

CK50:150. 200. 250. 300 None: Normal Type
CK60:150. 200. 300. 400. 500. 600

CKB86:340. 440. 540. 640. 740. 940

CK100:980. 1080. 1180. 1280. 1380 Number of Blocks:1. 2
CK130:980. 1180. 1380. 1680

Block Type:
E: Rail Special Order A: Normal
None: Normal Type S: Short



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

1.4 Specifications A 1.5 Accuracy Grade {8EFHK

Unit 84Z7: mm

) Repeatability Accuracy Running Parallelism Starting Torque
Model Rail E B EhIEE TEFHTE BAEEEA (N-om)
A= Length — — — —
Mp = HiERKE Precision Normal Precision Normal Precision Normal Precision Normal
m BER —R&RE% FEERR —RRR BER —h&LR BER —HRER
e SR i 60
s T —7
/ N CK20 100 +£0.003 +0.01 0.020 0.010 0.7 0.5
2 AR 140
100
CK30 150 +0.003 +0.01 0.020 0.010 0.8 0.5
Ballscrew jRERIZH Guideway £ B 200
- - 100
Basic Basic Static Rated Moment SiF&47746
) Dynamic Static
Basic | Basic Load Load - CK40 150 +0.003 +0.01 0.020 0.010 1.2 0.8
Model No Nominal Dynamic| Static Rating Rating Allowable Static Allowable Static Allowable Static
e Diameter | Lead | Load | Load EAREER EREER Moment MP (N-m) Moment MY (N-m) Moment MR(N-m) 200
AR | B2 | BR | H2X ERE ERE (pitching) (yawing) __(roling)
g2 | (mm) | EER | B N) ) 7500 MP(N = m) {RIZMY(N - m) BEIMR(N - m)
(mm) ERE | ERE 150
(N) (N) Block | Block | Block | Block |Block | Block |Block | Block | Block | Block | Block | Block | Block | Block | Block | Block
BEE | VBEE | BEE | BEE | VBEE | JBEE | JBEE | IBEE | VBEE | BEE | BEE | JBEE | BEE | BEE | BE | BE 200
A S A S Al A2 | ST S2 Al | A2 S1 S2 Al A2 | ST S2 CK50 +0.003 +0.01 0.020 0.010 4 2
- 250
e 200 | 420
CK2001 4 1 620 — 810 — 110 |52 | —| — |10 |52 | —|—|2/]4/|—|-— 300
“féé@;' 250 | 320
: 150
o 645 | 1058
CK3002 ——— 6 2 2200 | — | 3500 | — | 14 | 73 A e L - e 200
Normal &5 | 1008 +0.003 +0.01 0.020 0.010 15 7
—R 300
: CK60
Pl 735 | 1538 200
CK4002 8 2 3920 | — | 6468 | — | 33 |18 | — | — [ 3|8 — | — |8 |16 —|—
“fgg@;' 676 | 1284 500
- +0.003 +0.01 0.025 0.015 15 7
iy 2136 | 3489 600
CK5002 8 2 8007 | — | 12916 | — | M6 | 545 | — | — |16 | 545 | — | — | 222 | 444 | — | —
Normal 1813 | 2010 340
—fRe5,
Precision 440
s 3744 | 6243 +0.003 +£0.01 0.025 0.015 15 10
CK6005 12 5 13230 | 7473 | 21462 | 11574 | 152 | 760 | 72 | 367 | 152 | 760 | 72 | 367 | 419 | 838 | 241 | 482 540
iy 3377 | 5625 oKas -~
Precision
R 240 | 3743 740 +0.003 +0.01 0.030 0.020 17 10
CK6010 12 10 13230 | 7173 | 21462 | 11574 | 152 | 760 | 72 | 367 | 152 | 760 | 72 | 367 | 419 | 838 | 241 | 482
Normal
iy 2107 | 3234 940 +0.003 +0.01 0.040 0.030 25 10
Pl 744 | 12642 980
CK8610 |—— 16 10 31458 | 21051 | 50764 | 29475 | 622 | 3050 | 228 | 1309 | 622 | 3050 | 228 | 1309 | 1507 | 3014 | 847 | 1694 +0.005 +0.01 0.035 0.025 7 12
Normal 6429 | 11387 1080
—Re5,
i CK100 1180 +0.005 +0.01 0.040 0.03 20 12
iy 4645 | 7655
CK8620 16 20 31458 | 21051 | 50764 | 29475 | 622 | 3050 | 228 | 1309 | 622 | 3050 | 228 | 1309 | 1507 | 3014 | 847 | 1694 1280 0.045 0.035 23
i 4175 | 6839 £0.005 | 001 15
1380 0.05 0.04 25
ety 7046 | 12544
¥ERRY
CKI10020 F—— 20 | 20 39200 | — | 63406 | — | 960 |4763| — | — | 960 |4763| — | — |2205|4410| — | — 980 0.035 0.025 25 15
Normal 4782 | 9163
ity 1180 +0.005 +0.01
’ CK130 0.04 0.03 25 15
o 7897 | 16931 1380
CK13025 25 25 48101 | — | 84829 1536 | 7350 | — | — [1536|7350 | — | — (3885|7770 | — | —
o 7002 | 14352 1680 +0.007 +0.012 0.05 0.04 27 18

05 06



VERTEX AUTOMATION TECH CO.,LTD

1.6 Maximum Speed Limit R KIEE

Model Ballscrew Lead Rail Length L2 Speed &5 (mm/sec)
Bs RRIET S (mm) HUBKE L2(mm) Precision ¥4 Normal —fg%
60 100 100
CK20 01 100 100 100
140 100 100
100 200 200
CK30 02 150 200 200
200 200 200
100 270 270
CK40 02 150 270 270
200 270 270
150 270 270
o 0 200 270 270
250 270 270
300 270 270
150 550 390
200 550 390
300 550 390
% 400 550 390
500 550 390
600 340 340
ereo 150 1100 790
200 1100 790
" 300 1100 790
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
540 740 520
10 640 740 520
740 740 520
940 610 430
cree 340 1480 1050
440 1480 1050
" 540 1480 1050
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
CK100 20 1180 750 750
1280 510 630
1380 440 530
980 1120 800
1180 1120 800
CK130 25

1380 830 800
1680 550 550

07

Single—Axis Robot CK Series

1.7 Life Calculations EasHitE

1.7.1 Service Life Fip

Under repeated stress between the raceway and the rolling elements, pitting and flaking will occur as it reaches
fatigue failure. The service life of the CK single—axis robot is defined as the distanced traveled before any failure
of the raceway or rolling elements appear.

HMBYAZARTHEZN, RERESNREAMIZEEIANONER, —EIERESNIRFE, & MEH
STHEFERS IR, FESOREAEEEHCERNRENS, HMHKUHERRNE . FHiENXEA BREXRE AN
KRR M ERER B NS TIES .

1.7.2 Nominal Life (L) ZiEHds

The service life varies greatly even when the CK units are manufactured in the same way or operated under the
same conditions. For this reason, nominal life is used as the criteria for predicting the service life of a CK unit.
BTN ANES, BRS8N, BMEE—HHIER™m, TERNERETMER, ShtiamERE.
IENES RIARE X CK RAEREI IR SR,

1.7.3 Nominal Life Calculation CK {&¢H2Z EiESdpitE

The calculating formulas are divided into two parts, guideway and ballscrew. The smaller value of the two would
be the recommended nominal life of the CK unit.

Nominal life formulas for both the guideway and ballscrew depend on several parameters and are shown below.
TANBAZESITET D AMED T, SEEEENSRRENT, HAtEERPHERNE NZIEHZ NES

in. HitEX oI :

Guideway ZEiBH
ﬁ C 3 L: Life Rating BixES s ( A km) C: Basic Dynamic Load Rating
L= (— f—— ) X 50 km  f: Contact Coefficient (ref. Table 1) #RbERE (SEFRIE 1) EREERE (N)
er Pn fu: : Loading Coefficient (ref. Table 2) fafarfk#l (£&%*1&2) P.: Calculated Loading TEfafar (N)
Table Z&#& 1
Block Type iBEEE Contact Coefficient IZEEMEZREL f,
A1,51 1.0
A2,52 0.81
Table & 2
Operating Condition TYFIRE
_perEng = SERAT,
Thrust and Vibration fafapikis Velocity BE (V)
No Thrust ZEABFE V i V<15m/min 1.0 ~15
EiBAE D Low Vibration /i 15<V<60m/min 15~20
St RIRED High Vibration i V>60m/min 2.0~35
Ballscrew and Bearing ;&BRIET K &
1 Ca . L: Life Rating (rev.) Se5as ( IEk&s) C,: Basic Dynamic Load Rating
L= (_ o ) x 10°rev f.: Loading Coefficient (ref. Table 2) BEARTEERE (N)
T e BHRY (BEFIL2) P..: Axial Loading 4 TAE7 (N)

08



Single—Axis Robot CK Series

VERTEX AUTOMATION TECH CO.,LTD

T Standard R
1.8 Lubrication ii#i& CKZO Without co\,’er AESip=E

Insufficient lubrication of the guideway would lead to a reduction of the service life.

The lubricant provides the following functions: CK20-FO EE.HLEH?E
© Reducing rolling friction and avoiding abrasion -
© Providing a lubricating film and extending the service life 272 VNIt mm
© Anti-rusting 220 4P - poormiRy 63 561 708
CK TN ANERBELRNIITETIES, RaEboERMAIEIN, KBIEATREmEREwNEERR. E . = — s 1 ;o 7f ) ——
BANEIRGFHI i A = N i
- DREBD MBEE . B LR REEEIR oz | e L 2
RN ESEZERARE, KRS A ;
- BALEAES .
1.8.1 Lubricating Grease j#@i&;iffs
Re-lubricating the CK single-axis robot every 100km is recommened. Generally, grease is applied for speeds — E
under 60 m/min. For operating speeds over 60 m/min, a grease with a higher viscosity should be used. P ’ T T e
N o . N S b s . ) N . N N b -—--------———-—-- 5 & =M
R HIERARAZRE, BNREIEBIRFBENREETE, BINEFERIEREIA 100km i, NE«NEEEHIE—X, 1 = : e J N
A A] B G B EFRFANE, BlisI B, (BB MR EERRE B 60m/min, BXSAMERLERE = L o = e
iﬁl/:_\ ° VIEW_M (n-1)x40 S 38 I
Rail Length Total Length Maximum Stroke S&A1TEE (mm) Mass B (kg)
HEKE =N = - G(mm) n - =
100 x 1000 - . L2(mm) L1(mm) Block A1 /8 Block A2 jBEE Block A1 B Block A2 /8
T = T: Lubricating frequency (hrs) ;EH$RER (hour) 50 105 32 _ 10 _ 0.07 _
Ve: Speed & (m/mi :
Ve x 60 e: Speed IRE (m/min) 100 145 72 44 10 3 0.10 0.11
140 185 12 84 10 4 0413 014
1.8.2 Grease Nipple ;HIEEEE]
1 Block B8tk CK20-HO
r APk I
% '@'[ l I ]'@' ,v[ 4 2 Unit 84z: mm
— — — — I - < — - — 2x2-M2x0.4Px4DP. 4-M1.6x0.35Px4DP 15 2a-02THRU,$3.5¢1.70P
& A I < 8
Y/, $ l *+ | $ ]-@- I:_ R ¢ j ﬁ 3h7
I~ . 7777777,77'——,4;7777 — ‘\7
P q i f
Grease nipple s - 30209
;ED% % I 2-M1.6x0.35Px3.2DP o 4—3 ‘E—
2 Block Jig e Grease nipple -
i
& ] q}l + Iq} $l + |$ j/ 4
— — — . | — a P — — | 13 2-M2.5%0.45Px5DP 2x2-M2x0.4Px4DP ‘e |77 | 25
M EIEAE S+ | P U+ & . T T
J e — @:I 5
® @ *L == ot T EZ L
Grease nipple = L w 0s
/Eﬂu% VIEW_M (n-1)x40
Rgih\gingh Total Ltiﬂgth Maximum Stroke &A{TEE (mm) 5 Mass E& (kg)
. == < = PaIEd
1.9 CK Series CK Fe &5 Lzlfmm) Lfmm) Block Al i8I Block A2 BEE (mm) " Block Al BEE Block A2 B
60 92 32 - 10 2 0.06 -
. RPEENREEN. 100 132 72 44 10 3 0.09 0.10
140 172 12 84 10 4 0412 0413

09 10



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

Standard #rifE
CK30 Without cover A&5iP=

CK30-FO EEtNEEX

Standard Rt
CK40 Without cover #A&#P=

CK40-FO EBHEEX

Unit 847: mm Unit 84z: mm
2x2-M2.5x0.45Px5DP 4-M3x0.5Px4DP 406 2xn-®3.4THRU,26.5x2DP B8 _4-M3x0.5Px4.50P 5373 2-M2.5x0.45Px4DP
12 fj 15 25 T 26 2x2-M3x0.5Px6DP 20 2xn-®3.4THRU,26.5x3DP
22 22 OIL HOLE \»‘ _] ” [ e urr
‘ i K © Ot-Pafelo| [H ikd - g [ e ERE=taa
J | e |- e f f EanE IR == =1
{10 4 @ OT'mis Jkall Tomt| 1Y ; G L] ] el g b
;]' 5| 1 J 18 | 1 “‘[
g 4ls 75 40 25 10x1.2DP 55
20 5 2-M2x0.4Px3DP 5x1.2DP. o
LA 55| 27 5 L2 5
SECTION K-K L2 44
(8]
L1
49
12 25
4-M3x0.5Px6DP 2x2-M2.5x0.45Px4DP 145
10 2x2-M2.5x0.45Px5DP K 23 229 0 —_ B ”z
— 1 I,
o : - M 3 5 8 = = + = g
® o a Sl g ¥ g
T i lo® %M ] & & -+ 9
Gjr ﬂ ’ ﬁf : <_‘ ® 60 G ®4n7
VIEW_M (n-1)x50 G (160
Rail Length Total Length Maximum Stroke S&A{TAZ (mm) Mass E£ (kg) Rail Length Total Length Maximum Stroke S&A1TEE (mm) Mass B (kg)
HIBKE ESS - - G(mm) - - HBEKE =SS - - G(mm) n - -
L2(mm) L1(mm) Block A1 B Block A2 /8[EE Block A1 B2 Block A2 B L2(mm) L1(mm) Block A1 /8 Block A2 iBE Block A1 B Block A2 /8
100 154 56 - 25 0.22 - 100 159 36 - 20 2 0.46 -
150 204 106 70 25 0.28 0.32 150 209 86 34 15 3 0.59 0.67
200 254 156 120 25 0.34 0.38 200 259 136 84 40 3 0.72 0.8
2y >|:|:
CK30-HO BB BBk CK40-FL FBHlA%E
4-M3x0.5Px6DP 23 Unit %EZ mm —_— Unit %12 mm
14 2xn-03 4THRU, 26.5x2DP — 4-M3x0.5Px4.5DP
38 ] Eﬁ AMHO0.5PXA.50P
;; ©2 OIL HOLE MRS 1 z - o3h7 2-M2.5x0.45Px4DP
‘ g e i P iy | S| 2xn-®3.4THRU,26.5x3DP
© O BERSIN D) 7 g o — A
< o[ TG [ e e W et 1T e ]
S]:LIL{LJ = Lr*‘*j g[ i) OV S 1 O ;ﬁ %
30 |4 |75] ﬁ@ ° 8 D of 8
e 23 z 18] 11 10X1.3DP 18 B
L2 44
315 |9 55 20 25 ©
33
5] 57 2x2-M3x0.5Px6DP
L2
L1
2x2-M2.5x0.45Px5DP
2x2-M2.5x0.45Px5DP rs" 3 P 2x2-M2.5x0.45Px4DP.
[ ——
H ] “ w -
i 1 ‘ = ‘ jﬁ’ ] %
05] —~— 3
. 50 4 T 9
(n-1)x50 " Er
Rail Length Total Length Maximum Stroke S&AITEE (mm) Mass E& (kg) Rail Length Total Length Maximum Stroke &A{TEE (mm) Mass E& (kg)
HBKE 2K - - G(mm) - - HEKE ESN - - G(mm) n - -
L2(mm) L1(mm) Block A1 B EE Block A2 /8 Block A1 8 Block A2 B L2(mm) L1(mm) Block A1 /8 EE Block A2 B Block A1 B Block A2 /8 &
100 154 56 - 25 0.24 - 100 152 36 - 20 2 0.6 -
150 204 106 70 25 0.30 0.34 150 202 86 34 15 3 0.73 0.81
200 254 156 120 25 0.36 0.40 200 252 136 86 40 3 0.86 0.94
1 12




VERTEX AUTOMATION TECH CO.,LTD

CK40-FR Bl a3

" Unit 847: mm
L2
315 9 55 5373
*-E 10X1.3DP ‘ 2 ‘ 25 2x2-M3x0.5Px6DP
| H;E
w7 B-B
& Helebly o N .
B$ @ h"% 2 e
: TH=
g I ‘ — 2xn-03 4THRU,26 5x3DP I E%ELJ 2[ "’I
11| 18 of
2-M2.5x0.45Px4DP 40
= 4-M3x0.5Px4.5DP
2x2-M2.5x0.45Px4DP
— "
= _r ¢
ﬁ o &9[
B " 0.5
(n-1)x60
Rgi'\gi/ggth Total Length Maximum Stroke &ASTEE (mm) G(mm) Mass E& (kg)
ENNES mm n
L2(mm) L1(mm) Block A1 B Block A2 /8 [E Block A1 /8EE Block A2 B
100 152 36 - 20 2 0.6 -
150 202 86 34 15 0.73 0.81
200 252 136 86 40 0.86 0.94
CK40-FD BBl T3
U Unit 847: mm
315 9 L2 .
i 55 25 26
1 18
(<] I L Il
: i1 e
i | [ 2[5 | 2l
ﬁ 18 2]
10x1.3DP 40
4-M3x0.5Px4.5DP 20
33 2x2-M3x0.5Px6DP
2-M2.5x0.45Px4DP 57 2xn-®3.4THRU,26.5x3DP
2x2-M2.5x0.45Px4DP
(n-1)x60. 0
G 60 10
— | 8 Frt
T L[L 1T \ ] ;] b Z O g
o e osf [\
s B 4= o | Ll
8 = — - 2o
= - -
I, —
R;ﬁ\gié]rgjh TotaIALéngth Maximum Stroke S&AITEE (mm) &(mm) Mass E£ (kg)
JENNES & mm n
L2(mm) L1(mm) Block A1 B EE Block A2 /8 Block A1 8 Block A2 B
100 152 36 - 20 0.6 -
150 202 86 34 15 0.73 0.81
200 252 136 86 40 0.86 0.94
13

CK40

Standard Rt
With cover &ip=

CK40-FO = EEX

4-M4x0.7Px14DP

Single—Axis Robot CK Series

Unit 8fZ: mm

20 2xn-®3.4THRU,26.5x3DP
K2t et
= a|
o IR} i s — 9| :
S 55
6
L2
L1
49
2x2-M2.5x0.45Px4DP 12 25
4-M3x0.5Px6DP 145
229 2x2-M3x0.5Px4DP ’——8
C-— [
T i@\ e T Eils T
{ /do 8 21 } LT LT TR s
m Er c— o R ®an7
(n-1)x60
Rail Length Total Length Maximum Stroke &AITEE (mm) Mass E& (kg)
HBKE < - - G(mm) n - -
L2(mm) L1(mm) Block A1 8/ Block A2 /B EE Block A1 8k Block A2 /B EE
100 159 36 - 20 2 0.53 -
150 209 86 34 15 3 0.67 0.79
200 259 136 84 40 3 0.81 0.93
Ax
CKA40-FL BBl
— Unit 88fZ: mm
H 4-M4x0.7Px14DP
2xn-®3.4THRU,26.5x3DP
o i I — 45
g8l g 13 ! D-D
i A 52
) 5;}?;* ******* 3 j/ o
l E:('E-L ,,,,,,, I SR 8
i &
5 ‘Ji)l" 25
33
315 9 57
L2
L1
2x2-M2.5x0.45Px4DP
2x2-M3x0.5Px4DP D
—
il =+ 1
T [ .
° : A .n] )
T ) e 12 ©
G 60 o ﬂl
(n-1)x60
Rail Length Total Length Maximum Stroke &A{TEE (mm) Mass E& (kg)
HEKE ESN - N G(mm) n N .
L2(mm) L1(mm) Block A1 /8 EE Block A2 /B EE Block A1 /8EE Block A2 /8 &
100 152 36 - 20 2 0.67 -
150 202 86 34 15 3 0.81 0.93
200 252 136 86 40 3 0.95 1.07

14



Single—Axis Robot CK Series

VERTEX AUTOMATION TECH CO.,LTD

Standard Rt
CK50 Without cover #A&#P=

CK50-FO EBHEEX

CK40-FL BHlA%

L Unit 8Z: mm

E== f i ) e s 4-M40.7Px6.5DP Z: 2xn-®4.5THRU, 28x4DP Unit B{47: mm
S . %‘Zm m
y__ I $ f " 13x0.5x6! ! . | Y
J : = — —
s ' . Cl | ik u
& “‘[, — @ || = 3
T 5 \/f 1= §l§ e AFAES | @ LY —
= 2x2-M3x0.5Px4DP 25 125 ﬂ[ fit fit
4-MAX0.7PX14DP 50 2-M3x0.5Px4DP 15x1.3DP 6
2xn-03 4THRU, 26 5x3DP SECTIONA-A K e
240-M2.5x0.45Px4DP. 5 B 5
—D L1
i 10
l — 8| 4-M3x0.5Px6DP £
L gI PCD33 155 325
] T 045; ° 10 15
: B (n1)x60 D m— %\ (‘11]—‘ = —
g ’J‘ 2 vews
o i 5 — — % i s
‘ - p— = i e e e
X
Rail Length Total Length Maximum Stroke &ASTEE (mm) Mass E& (kg) f ~
HBKE < N N G(mm) n N N ) G
L2(mm) L1(mm) Block A1 B Block A2 /8 [E Block A1 /8EE Block A2 B im0
100 152 36 - 20 2 0.67 -
150 202 86 34 15 3 0.81 0.93 Rgfih‘g?gh Totali\l_éngth Maximum Stroke & X1742 (mm) S Kom) . Mass &2 (kg)
200 250 136 86 40 3 0.95 107 L2(mm) LA(mm) Block A1/8E | Block A2 iBEE Block A1/8E | Block A2 iBEE
150 220 70 - 35 80 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8
CK40-FD BB T~ CK50-HO
= Unit 8Z: mm 2x2-M2.5x0.45Px4DP 4-M4x0.7Px6.5DP Z: 2xn-4.5THRU,08x4DP . .
I3 os 2x2-M3x0.5x6DP ‘ 30 ‘ Unit 84z: mm
57 i T ; i
33 il
315 9, Fieo .‘ 25 % @ Cl o | & H @ h s
d -t — ] — . — 8
‘ T e ; E [ h
i e e 5 1 4 [P AES & e J
%,;[;4@, T he el 2-M3%0.5Px4DP 15x1.30P _le] ] =
' T4 « SECTIONA-A
4-M4x0.7Px14DP o 2xn-03 4THRU,26.5x30P s = 8 s
(n-1)x60 L1
G 60
| B 10
= \ 1 = © 155_,_ 15 496
o = o P i 3 A 2 4-M3x0.5Px8DP
T — 8] { gl A [ &
o B 4 ’ 0s 8 =] l Lz 8 G’X s
8| = = — — — — I ® @ &
: d 2x2-M2.5x0.45Px4DP. :ﬂ L: oo - LjJ i g[ ﬁ&y#} gl
L1 - 242-M3x0.5Px4DP ., .
j;‘ (n-1)x80
40
Ral Lenath ol Lonaih Rail Length Total Length | Maximum Stroke g&Af72 (mm) Mass &= (kg)
ail Len otal Len i o] = EEE < - - - -
BEE P Meximum Stroke N () G(mm) Mass B8 (9) : ?Zj?ﬂ-&tl’g u%tm) Block A13BEE | Block A2 B S(mm) Block A13BEE | Block A2 B
L2(mm) L1(mm) Block A1 /8 Block A2 /& Block A1 i8E Block A2 /8
150 190.5 70 - 35 2 0.9 -
100 152 36 - 20 0.67 -
200 240.5 120 55 20 3 11 1.3
150 202 86 34 15 0.81 0.93
250 290.5 170 105 45 3 1.3 1.5
200 252 136 86 40 0.95 1.07
300 340.5 220 155 30 4 1.5 1.7

16




VERTEX AUTOMATION TECH CO.,LTD

CK50-FL E#lA%

Single—Axis Robot CK Series

CK50-FD BB T

2xn-04.5THRU,®8x4DP

74

a7

Unit 84z: mm

2x2-M2.5x0.45Px4DP

EQ =
&F@ o] [o] 1 P & : “’l
- = — § L FMEC
o1 raES :ﬂ—% i zg 12527
[]8]. 1 15x1.3DP 4-M4x0.7Px6.5DP 1 SECTION A-A
5 G K 2x2-M3x0.5x6DP
36 125 L2 5
10
1 I )
A
= — s d Of ¥ ©
] 1 -y I
8l 80 _IA 1 “
° G (n-1)x80 pd °
HEe——u=>H g a§
e d
— T T
5
Rail Length Total Length | Maximum Stroke & K472 (mm) Mass &2 (kg)
BRKE ESN . . . .
B Ly | Bockaree | Bockazgm | O Kimm) " Block 18 | Block A2 BEE

150 210.7 70 - 35 80 2 0.9 -
200 260.7 120 55 20 160 3 11 1.3
250 310.7 170 105 45 160 3 1.3 1.5
300 360.7 220 155 30 240 4 1.5 1.7

Unit 8Z: mm
—— 4-M4x0.75Px6.5DP 2xn-®4.5THRU,28x4DP
| 2-M3x0.5Px4DP 2x2-M3x0.5Px6DP
o — a7 AA
2l o . B 30
BN RS ; : : : s
ol ﬁ = = éf
o 1 7] * % ‘ .
A r— = ] @B’W\
T SEAT © — 44
Jﬁi‘ 15X1.3DP 25 g1
74.6
36 125 G K .
L2
L1
2x2-M2.5X0.45Px4DP. 12
o)
A o/
g’ : e’
; 5 © : e g d
st A 1 w0 582
G 80 113.4
(n-1)x80
Rail Length Total Length | Maximum Stroke X472 (mm) Mass B (kg)
BKE ESN N N G K N N
s ey | Bockarmee | ook Az e (mm) (rmm) " Block A1BEE | Block A2 B
150 210.7 70 - 35 80 2 0.9 -
200 260.7 120 55 20 160 3 1.1 1.3
250 310.7 170 105 45 160 3 1.3 1.5
300 360.7 220 155 30 240 4 1.5 1.7
Ax
CK50-FR BBl A%
L1
L2 B =,
382 _125] G K s o Unit 8Z: mm
= 25
w = i P
H— a1k
i ol o
0| re—QI¥lx[e 71_%% I A _] e
§ 8 8 — O ' \ 0 ' 25 125 ir
1 \ 47 2x2-M3x0.5Px6DP =
| 2-M3x0.5Px4DP 2xn-®4.5THRU,28x4DP
) — 4-Mdx0.75Px6.5DP
N e——
2x2-M2.5x0.45Px4DP 10
—H p
o o 2
T 8 ©) Q N
qy LR : , & P ©
ﬁ L_G-MA 05] 582 50
(n-1)x80
‘ ot 134
Rail Length Total Length | Maximum Stroke & Af742 (mm) Mass &= (kg)
BIE < . . . .
?%ﬁ‘n: U%fm) Block A1/ | Block A2 /S G(mm) K(mm) : Block A1 | Block A2 /B
150 210.7 70 - 35 80 2 0.9 -
200 260.7 120 55 20 160 3 1.1 1.3
250 310.7 170 105 45 160 3 1.3 1.5
300 360.7 220 155 30 240 4 1.5 1.7

17

18




Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

Standard #rifE
With cover §iP=

CK50-FL BBHlAR

CK50

Unit 84z: mm

C K5 O - F O %*}-LEE* : : e 4-M4x0.75Px8DP AA
30
f‘: 8 2xn-®4.5THRU, 28x4DP
Z: 4-M4x0.7Px10DP Unit %fﬁ mm £ 8 # = H R m
2x2-M2.5X0.45PX4DP } T‘Lﬂ 2x-04.5THRU, $8x4DP d i ° & e
I g 5
k = == o P& © [0}
o & © ‘
B e oL N
2l |- — @ — % 74.6
{ ¢ @ © 38.2 125 G K
L2
= 7 L1
2x2-M2.5x0.45Px4DP
SECTIONA-A LKQ = 2x2-M3x0.5PX6DP.
. A 65 o,
60 | Q_H \ . N !‘g =
e 1 Ar— e == g® N @ ol
- i | | o d o
f PO 1 3] osf . o AT 0451 50 58.2
§ § E 7E%71 ﬂ:] - f % - VIEWB (n-1)x80 1194
05 ks > ot} ©
r == == = Rail Length Total Length | Maximum Stroke & K472 (mm) Mass &2 (kg)
Al Bi<E ESN . . . .
° ° B Ly | Bockaree | Bockazgm | O Kimm) " Block 18 | Block A2 BEE
(n-1)x80.
150 210.7 70 - 35 80 2 0.9 -
Rail Length Total Length | Maximum Stroke & K175 (mm) Mass E& (kg) 200 260.7 120 55 20 160 3 141 1.3
B -

s ey | Bockarme | Bockazmm | O Klmm) " Block 1B | Block A2 iBEE 250 310.7 170 105 45 160 3 13 15
150 220 70 - 35 80 2 11 - 300 360.7 220 155 30 240 4 1.5 1.7
200 270 120 55 20 160 3 1.3 1.5
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0

Ax
CK50-HO CK50-FR Bl A%
po 4-M4x0.7Px10DP. . . L2 i iv2
2x2-M2.5x0.45Px4DP V‘Lﬂ 2xn-4 STHRU,G8x4DP Unit 84Z: mm U - Unit 84Z: mm
\ D % 74.6 AA
i ¥ s
o] @ 2T 2] @qﬁ@W = ifm‘mf: =
o o | | o — o - H @ © Eélj 777777777 @10
) K © $ ES $ @ d‘L © J E N j{ P [P - o
i o Mk L | @ @ 7,41/ ,,,,,,,,, é‘ﬂi’”’ o
@ @ ol of B — O < T '
2x2-M3x0.5Px4DP. 8 = g ® 1 4 — L:gj
SECTION A-A K G 47 2xn-®4.5THRU,28x4DP
L2 | 50
u . | 4-M4x0.75PxB8DP
— —
A — 155 15 h 2x2-M2.5x0.45Px4DP.
o _amsoseave T A
N s —. f P I T Al 88 o
4} )
\(% g p2 J: -
8 G’\ . f‘%—iﬂ( e - VEws g
K © 57 O © s E3 E3 © o Qg
'I F\J - £ o o e £ ©® @ <)
« * A 4.‘ 80 G 58.2 50
VIEW B (n-1)x80
(n-1)x80 19.4
Rail Length Total Length | Maximum Stroke & Af742 (mm) Mass E=E (kg) Rail Length Total Length | Maximum Stroke g&Af72 (mm) Mass &= (kg)
BIE < . . . . BRE < . . . .

?%ﬁ‘n: U%fm) Block A1/BEE | Block A2 JBEE G(mm) K(mm) . Block A1/BEE | Block A2 /BEE ?ﬁﬁg u%tm) Block A1/BEE | Block A2 /BEE G(mm) K(mm) n Block A1/8EE | Block A2 /BEE
150 190.5 70 - 35 80 2 1.0 - 150 210.7 70 - 35 80 2 0.9 -
200 240.5 120 55 20 160 3 1.2 1.4 200 260.7 120 55 20 160 3 1.1 1.3
250 290.5 170 105 45 160 3 1.5 1.7 250 310.7 170 105 45 160 3 1.3 1.5
300 340.5 220 155 30 240 4 1.7 1.9 300 360.7 220 155 30 240 4 1.5 1.7

19 20



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

CK50-FD Ea#l & Standard {5

CK50

With Bellows S{h4gipS

L2 B .
Unit 847: mm N
: o CK50-FO EBHlEEX
5.7 2x2-M3x0.5Px4DP 8
I
oL & BRI @ o . o _4-MXOTPXIODP Unit 84Z: mm
_ 4 J— 55 r—-‘
oy @ ’:I 51+ [o @ ° 50 @« U 1 U &
i i T Iy o o
2xn-04.5THRU,®8x4DP 30 \M 2 L e e
’ ;z 4-M4x0.7Px10DP. o &7 U 1 14 — ] = 5
— y NN a e
oo [ L\rT‘ T ° o o °
o — == = (e nln &
B B 50
== i = LD
o G 80 | N 1 o SECTIONA-A
Ed (n-1)x80 = t
AU—HJ 10 L2 60
4-M3x0.5Px6DP K G 15.5 325
- PCD33 2x2-M3x0.5Px4DP ; 8 j Ll 15
= IO, == T
E—
gg 2 L - ‘ ‘ ‘ i J # % . VEws
05 7 - wsh7 | ©
Rail Length Total Length | Maximum Stroke K742 (mm) Mass E= (kg) r e Ppp———— Lrl e
BEE < N N G K 5 \ x2-M2.5x0.45Px 80 G
?sz?nﬁ‘r% Li(mm) Block A1iBEE | Block A2 BEE (mm) (mm) : Block A13BEE | Block A2 BEE P22 04RO o
150 210.7 70 - 35 80 2 0.9 -
200 260.7 120 55 20 160 3 1.1 1.3 jo{‘ éigh TOtaI@L{iﬂgth Stroke 1712 Bellows length IPER4EE (mm)
BRE < Minimum length of | Maximum length of G(mm) K(mm) n Mass E£ (kg)
250 310.7 170 105 45 160 3 13 1.5 L2(mm) L1(mm) (mm) bellows S/MBgEE | belows SAMIRE
300 360.7 220 155 30 240 4 1.5 1.7 150 220 50 16 72 35 80 2 1.1
200 270 80 29 110 20 160 3 1.3
250 320 110 39 150 45 160 3 1.6
300 370 160 40 200 30 240 4 1.8
e e | weoreaooe Unit 847: mm
50 © U u/é(
e} o
o o “
o o J
o] O
4 a1 @
nk 2x2-M3x0.5Px4DP
L1
4-M3x0.5Px8DP 10 L2 15.5 15
4 K G
:26 \ 2x2-M3x0.5Px4DP i 8 i 65 3| 10
— 1y I 1 |
oy I
8 5 /{:}\ 5 & = L — # 547 VIEW B
5 o 5 : id
g[ I KJ)Y" 1 : LZ# . == oo}
* VIEW B ZXZVML 510.45m0P 2xn-®4 5THRU,®8x4DP L ® R
(n-1)x80
Rail Length Total Length Stroke {312 Bellows length IPEMFEE (mm)
HERKE ESN (mm) Minimum length of | Maximum length of G(mm) K(mm) n Mass E& (kg)
L2(mm) L1(mm) bellows f/MEFEE | bellows SABES
150 190.5 50 16 72 35 80 2 1.0
200 240.5 80 29 110 20 160 3 1.2
250 290.5 110 39 150 45 160 3 1.5
300 340.5 160 40 200 30 240 4 1.7
21

22




VERTEX AUTOMATION TECH CO.,LTD

CK50-FL E#lA%

CK50-FD BB T

Single—Axis Robot CK Series

Unit 84z: mm
o
o
L1
36 125 L2 10
e Zx;MSXD 5Px4D
— = = ’ © ¢
T yam)
of G 80 ‘ 2x2-M2.5x0.45Px4DP J» 2xn-®4£THRU,®8x4DP ;
= (n-1)x80 M o .
_ — k
ﬁj '=‘9 g
[ —] . )
42
50
Rail Length Total Length Stroke {552 Bellows length IPE(#4EE (mm)
NEKE ESS (mm) Minimum length of | Maximum length of |~ G(mm) K(mm) n Mass & (kg)
L2(mm) L1(mm) bellows f&/ME4EE | bellows A4S

150 210.7 50 16 72 35 80 2 1.0
200 260.7 80 29 110 20 160 3 1.2
250 310.7 110 39 150 45 160 3 1.5
300 360.7 160 40 200 30 240 4 1.7

Unit 8Z: mm
: AA
o S| 4-M4x0.75Px8DP
[ o
[7
il .
L1
L2 10
38.2
0] |
g, " o
! - &
D;Sr T> l 2)(24\*/12 5%0.45Px4DP 50 58.2
G 80 2xn-®4.5THRU,®8x4DP
(n-1)x80 194
Rail Length Total Length Stroke 512 Bellows length {FE(HFEE (mm)
HIBKE =S (mm) Minimum length of | Maximum length of G(mm) K(mm) n Mass E& (kg)
L2(mm) L1(mm) bellows B/MEgEE | belows SAMIER
150 210.7 50 16 72 35 80 2 1.0
200 260.7 80 29 110 20 160 3 1.2
250 310.7 110 39 150 45 160 3 1.5
300 360.7 160 40 200 30 240 4 1.7
dx
CK50-FR BBl A%
4-M4x0.75Px8DP A Unit %E‘L mm
o
1l L P e L
i
[ o
5 7 ; 2x2-M3x0.5Px4DP ?
I ———
L1
38.2 125 L2 10
G K
T = A D [‘
9 ””” g os” al ° ©} N
s — Y I > @
s 0 A 2x2-M2.5x0.45Px4DP 58.2 50
2xn-®4.5THRU, ®8x4DP
(n-1)x80 119.4
Rail Length Total Length Stroke /572 Bellows length {FE(R4EE (mm)
HBEKE ESS (mm) Minimum length of | Maximum length of G(mm) K(mm) n Mass E& (kg)
L2(mm) L1(mm) bellows f/MEFEE | bellows SAHES
150 210.7 50 16 72 35 80 2 1.0
200 260.7 80 29 110 20 160 3 1.2
250 310.7 110 39 150 45 160 3 1.5
300 360.7 160 40 200 30 240 4 1.7
23

24




Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

Standard rifE B "
CK60 Without cover #A&iP= CKEO-FL Rt

Unit 84z: mm

L
N = F
CKGO_FO %*)-LEH* [ 2xn-®5.5THRU,®9.5x4.7DP
Le— %
Unit 84Z: mm d o
- 4-M5x0.8PX8DP 9 R 30 4-M5x0.8Px8DP 2xm-M2.5x0.45Px4DP
2xm-M2.5x0.45Px4DP 0 2xn-05.5THRU,®9.5x4.7DP = o F 1 2x2-M3x0.5Px8DP
42 2x2-M3x0.5Px8DP i~ it i <+ H @ ] {M}/ ] @ A
30 =, — =
& &+ | & . [— p— j a
i I — [+ [#TT b — . | = == =
8 MQ%? _ %Tm[ml o + . T
:7 o “?‘:—f ¢ J SR 7 © 1 @ e sl 2-M2.5x0.45Px3DP 15x2.20P
L%—Li 2-M2.5x0.45Px3DP. 15x2.20P . 6 . s = K
SECTIONA-A (i s 402 155 - L2 4
7 L2 7 IR
L1
— A
A'M";g ;:-SBDF TJE:F% et - _ N
5 € i) o A i
4-M3x0.5Px8DP 18.5 305 o 3 o) © I 3
PCD40 155, L[ L Ll ] | ©) (@
—\ . 91, o [ 100 [T ﬁ] 60 736
‘ [~ — (n-1)x100 136.6
o i — = i - q Al £ vews
05 + s s
r ~ j — - ’E Rail Length | Total Length | Maximum Stroke AT (mm) Mass Z£ (kg)
BKE ESS . . . .
e f%ﬁ‘ng Uﬁ‘m) Block ATE | Blockazige | Cm) | Kmm) : ™ | Block A1iBEE | Block A2 B
150 216.7 60 - 25 100 2 2 1.4 -
200 266.7 110 - 50 100 2 2 1.7 -
Rail Length | Total Length Maximum Stroke X174 (mm) Mass &2 (kg) 300 366.7 >10 135 50 500 3 5 53 56
HEKE ESN - e G(mm) K(mm) n m . . : : :
L2(mm) LA(mm) Block A1 8 EE Block A2 /8 Block S1i8EE | Block S2 igE 400 466.7 310 235 50 100 4 4 3.2 3.2
150 220 50 _ 25 100 P P 15 - 500 566.7 410 335 50 200 5 3 3.5 3.8
200 270 110 _ 50 100 2 2 18 _ 600 666.7 510 435 50 100 6 6 41 4.5
300 370 210 135 50 200 3 2 24 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 6 4.2 4.6
Ax
CK60-HO CKB0-FR EBilA%=
Unit 8847: mm Unit 847: mm
L1
51 | 4-M5¢0.8Px8DP_ 402 155 L2 B
2xn-05.5THRU,®9.5x4.7DP 1A e {m-1pxK
2xm-M2.5x0.45Px4DP 30 % .
42 2x2-M3x0.5Px8DP Ay Y 2 | RL 15x2.2DP 2-M2.5x0.45Px3DP
qu i @ L EIRIEARS @ a+ Zi
J AVl [ — — o & d[ere] & 4 ' 5
3.4 Q_ﬁ{gn 1o Iz [ $7‘$ ;ﬂ Y :QJ]Pi — — E[ 8 4, A\ Y;‘_{mg
! A B[] % = ?
:g = 2-M2.5x0.45Px3DP 15x2.2DP |8 7& = e L Jt ’ 30 15
100 3l o 30 2x2-M3x0.5Px8DP. 0
SECTIONA-A (m-1)eK G 1 82516 2xm-M2.5x0.45Px4DP SECTIONA-A
: = L1 - i % 2xn-95.5THRU,$9.5x4.7DP 4-M5x0.8Px8DP
—
06 4-M4x0.7Px15DP " ﬁ. 1; 11
— A
e % A — ’M _ o
@ g En |y 0]
o ?Q o 2 — e e Il ]}fﬂé —_vews ® = q s 3 5 6
N g © \&% 0 g[ 05 U M M M j}i M D O
g@? ¢ ol ] T 7 - ‘J‘—‘ = [ 7, © [
’ = ’ b 1 € ‘ 8 (n-W));O ﬁ‘ e 138.6 =
VIEW B (n-1)x100
Rail Length | Total Length Maximum Stroke f& X178 (mm) Mass B (kg) Rail Length | Total Length Maximum Stroke f& X742 (mm) Mass B2 (kg)
EKE E=3S . . . . BRKE K . . . .
Dl | BNy | Bookaims | Booazigs | O | KO " ™ | Block ATIBEE | Block A2 /BEE s | LEhy | Bokatmm | Bookazgs | O | KO " ™ | Block ATiBEE | Block A2 FBEE
150 195 60 - 25 100 2 2 1.4 - 150 216.7 60 - 25 100 2 2 1.4 -
200 245 110 - 50 100 2 2 1.7 - 200 266.7 110 - 50 100 2 2 1.7 -
300 345 210 135 50 200 3 2 2.3 2.6 300 366.7 210 135 50 200 3 2 2.3 2.6
400 445 310 235 50 100 4 4 3.2 3.2 400 466.7 310 235 50 100 4 4 3.2 3.2
500 545 410 335 50 200 5 3 3.5 3.8 500 566.7 410 335 50 200 5 3 3.5 3.8
600 645 510 435 50 100 6 6 441 4.5 600 666.7 510 435 50 100 6 6 441 4.5

25 26



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

_ - Standard tri
CKBO-FD il P CK60 With Cover "e‘.?F'E

Unit 847: mm
2:M2.5x0.45Px3DP s 4-M5x0.8Px8DP 2xm-M2.5x0.45Px4DP .
2xn-05.5THRU,$9.5x4.7DP. r_.HU 2x2-M3x0.5Px8DP C K6O - FO EEI*J‘LEH*
=% qoe = :
| 4 } o E[ J @a]‘ 82.6 Unit 84Z: mm
::?1 @ E7 olelo] | & T N {Li' o[ & 33 2xm-M2.5%0.45Px4DP ‘ geg ‘ 4-M5x0.8Px8DP
] EL 'fgi or n [ “ u 4}»’_{ 1= m 2xn-05.5THRU,9.5x4.7DP
(m-)xk y =SS —— =
402 : 155 § - L2 7 SEeTionAA . JE@% I @& @7 o Lol i % @ — 1 4| i :
P a2
§ ) | e e
< aaf 0 |15
L] ety . 2 X o
g @ SECTIONAA 2x2-M3x0.5PX6DP 100
] L ] 1d, (m-1)xK. [
B G 100 Ta 0s] o 7 L2 7
(n-1)x100 8 B
‘ § 4'M4;gg§l>]<8DP 50
N30 SPxeDP ; 185 15205
L %4 — g — i _osh7.
H E g — =l — = glkvwews
- 5 > g
| | ] o = b
Rail Length | Total Length Maximum Stroke S&A174#2 (mm) Mass E& (kg) 1 [E=2 s
EKE ES3S . . . . 1
?sz?:](n:; Lﬁfmkm) Block A1 8EE Block A2 ig = G<mm) K(mm) n m Block A1i8E | Block A2 j8E vews (n-1)x100
150 216.7 60 - 25 100 2 2 1.4 -
200 266.7 110 - 50 100 2 2 1.7 - - — —
300 366.7 210 135 50 200 3 2 23 26 R;]\Jl\éi%_g‘;h Tota\éf/:ngth Maximum Stroke & X175 (mm) G(mm) Ko . . Mass B2 (kg)
400 466.7 310 235 50 100 4 4 32 32 Lo LA(mm) | BOCkA1iBEE | Block A2 B Block AT /BEE | Block A2 /B
500 566.7 410 335 50 200 5 3 35 38 150 220 &0 . 5 700 5 5 7 .
600 666.7 510 435 50 100 6 6 4.1 45 200 570 o . = 100 5 5 X .
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5 3 3.9 4.2
600 670 510 435 50 100 6 6 4.6 5.0
Unit 84Z: mm
82.6
. 2xm-M2.5x0.45Px4DP. 30 4-M5x0.8PX8DP
74 S fl% 2xn-05.5THRU,99.5x4.7DP
64 -
'] L] 1l =
=T & i :
LGSR [
d ] 5l > ©_ d _ @ @
o e Jd
{ ] SEES # & el & [
H Ly L T o |
SECTIONA-A 2.M3x0.5PX6DP 100
(m-1)xK G
14 L2 7
4-M4x0.7Px15DP 18 __16
59.6 1 A |15
q $ # F L 7% »8h7
E ?% 3| E J— =] Et — % — VIEWB
4 P \&J/ 9 ;I 0 F g—3
:ﬂ@ffr ¢ :ﬂ f =+ == =+
33 ‘ —— 100 G
VIEWB (n-1)x100
Rail Length | Total Length Maximum Stroke f& X742 (mm) Mass &= (kg)
BRKE K . . . .
s | LEhy | Bokatmm | Bookazgs | O | KO " ™ | Block ATiBEE | Block A2 FBEE
150 195 60 - 25 100 2 2 1.6 -
200 245 110 - 50 100 2 2 2.0 -
300 345 210 135 50 200 3 2 2.6 2.9
400 445 310 235 50 100 4 4 3.2 3.5
500 545 410 335 50 200 5 3 3.8 441
600 645 510 435 50 100 6 6 4.5 4.9

27 28



VERTEX AUTOMATION TECH CO.,LTD

CK60-FL HHlA3

CK60-FD BT

Single—Axis Robot CK Series

Unit 84Z: mm
2x2-M3x0.5Px6DP Bgf 4-M5x0.8Px8DP
2xn-5.5THRU,$9.5x4.7DP ,2 2xm-M2.5%0.45Px4DP. 86
e & | 74
M L'} L'} p.) 64
% lperhsT & s ===
S : — s ok
@ @ E,¢¢$,JF“ €] @ g Y yeads
”ii- K ¢¢m$ a 30 |15
100 60
7 G (m-1)xK SECTION A-A
55.7 L2 7
L1
N a
1 T
L [ [N | |
8 K G 100 A ‘ M[ ;
(n-1)x100 -
— :
I =
——]
Rail Length | Total Length Maximum Stroke f&xX1742 (mm) Mass &E2 (kg)
BIKE 2K N N G K | |
s | sy | BokateE | Bockazm (mm) (mm) " ™ | Block ATiBEE | Block A2 BEE
150 216.7 60 - 25 100 2 2 1.6 -
200 266.7 110 50 100 2 2 2.0 -
300 366.7 210 135 50 200 3 2 2.6 2.9
400 466.7 310 235 50 100 4 4 3.2 3.5
500 566.7 410 335 50 200 5 3 3.8 41
600 666.7 510 435 50 100 6 6 4.5 4.9

~ Unit 847: mm
gl
- 82.6
[ ] E :3 2x2-M3x0.5Px6DP 2xm-M2.5x0.45Px4DP
o y£1 4-M5x0.8Px8DP 2xn-®5.5THRU,®9.5x4.7DP 86
i b e | 7
L 7 ¥ — 64
o @ SEIRIEIN ¥ ¢ = Il
g T e P A
P L ele]o || N mFL R
e L4 & H ﬁqq
sl & ¢¢£ af 30 15
100 60
7 G (m-1)xK SECTION A-A
55.7 L2 7
:1% il ’ 151.8
= L s
5 . =
q ° ) o
[ [ [ ] | @) ® °
(] 100 A 045[ 60 73.6
(n-1)x100 138.6
Rail Length | Total Length Maximum Stroke X174 (mm) Mass &= (kg)
BiE ES N . S R .
?§f£ Uﬁfﬂ) Block AT/ | BlockA2igm | O™ | KmMm) " ™ | Block A1BEE | Block A2 {8
150 216.7 60 - 25 100 2 2 1.6 -
200 266.7 110 - 50 100 2 2 2.0 -
300 366.7 210 135 50 200 3 2 2.6 2.9
400 466.7 310 235 50 100 4 4 3.2 3.5
500 566.7 410 335 50 200 5 3 3.8 4.1
600 666.7 510 435 50 100 6 6 4.5 4.9
A= AAE
CK60-FR EBEEAR %
Unit 8fz: mm
L1
293.91 L2 7
7 G (m-1)xK
. 100 2x2-M3x0.5PX6DP P
17 [ 6 ¢4 | z
- & Lelelelh @ @ ===
— — g g kg
i ® Hlel-Tel ¥ @ @ mP‘ \%ﬁ—mw
o L i 0 9 H -
2l O 4o 31] 30 |15
LEJ 2xm-M2.5x0.45Px4DP 0
30 SECTION A-A
| % 552“6 4-M5x0.8Px8DP
% 4‘% 2xn-05.5THRU,®9.5x4.7DP
A 11 151.6 .
Lﬂ @Op OE J
=1} | L
a (©
L N 1 Op o ©
‘ G 100 A— ﬁl 73.6 60
(n-1)x100 138.6
Rail Length | Total Length Maximum Stroke f& X178 (mm) Mass B (kg)
BiE ESN . | R .
fﬁ%g Ly | BockatmeE | Bockazgm | O™ | KM " ™ | Block ATIBEE | Block A2 i
150 216.7 60 - 25 100 2 2 1.6 -
200 266.7 110 - 50 100 2 2 2.0 -
300 366.7 210 135 50 200 3 2 2.6 2.9
400 466.7 310 235 50 100 4 4 3.2 3.5
500 566.7 410 335 50 200 5 3 3.8 4.1
600 666.7 510 435 50 100 6 6 4.5 4.9
29

30



VERTEX AUTOMATION TECH CO.,LTD

Standard #rifE
CK60 With Bellows S{h4gipE

CK60-FO BB EEX

CK60-FL EBHlA%

Single—Axis Robot CK Series

Unit 847: mm
o 2x2-M3x0.5PX6DP ‘ 4MEX0.8PXEDP
& 4
60 ‘ )
T T ° P ]
o R Yol - . 5 "
e T LS
a} 30 15 & ¢ ¢
60
SECTION A-A
L1
4-Mdx0.7Px8DP 1 L2 59
PCD40
4-M3x0.5Px8DP (m-1)xK 30.5
PCD40 100 ‘595
C IO T
§ \_A g i ‘ = ikwsws
05 050 ’E 8,
i i Of g = [ ]
¥ ¥ 2xn-95.5THRU,99.5x4.7DP 100
2xm-M2.5x0.45Px4DP -
VIEW B (n-1)x100
RailLength | TotalLength | o\ o g Bellows length 3PEH4EE (mm)
HBKE < (mm) Minimum length of | Maximum length of |~ G(mm) n m Mass E£ (kg)
L2(mm) L1(mm) bellows f&/ME4EE | bellows EEARIEE
150 220 50 13 66 25 2 2 1.7
200 270 90 19.5 110 50 2 2 2.1
300 370 160 35 195 50 3 2 2.7
400 470 230 49.5 278 50 4 4 3.3
500 570 310 59.5 370 50 5 3 3.9
600 670 380 75 455 50 6 6 4.6
Unit 8fz: mm
2x2-M3x0.5Px6DP —AMEO5PE0P
TO ° M-k
R : I -
1o % 177
ﬂl 30
60
SECTION A-A
" L2
4-M4x0.7Px15DP (m-1)xK 18 16
59.6 15 9
iz i W=y
N7 e SRR RN Ty
3 ] @ \%% @ g[ D 7:{ 8 EW B
pslod T o0 o | 75 —
! ' 2xn-05.5THRU,$9.5x4.7DP
33
VIEWS 2xm-M2.5x0.45Px4DP (o0
RailLength | TotalLength | g o) s=z= Bellows length IPEf#4EE (mm)
HEKE ESS (mm) * [ Minimum length of | Maximum length of | G(mm) n m Mass E& (kg)
L2(mm) L1(mm) bellows f/IMEZEE | belows RAMEE
150 195 50 13 66 25 2 2 1.6
200 245 90 19.5 110 50 2 2 2.0
300 345 160 35 195 50 3 2 2.6
400 445 230 49.5 278 50 4 4 3.2
500 545 310 59.5 370 50 5 3 3.8
600 645 380 75 455 50 6 6 4.5
31

Unit 84Z: mm
e
5 2x2-M3x0.5Px6DP
o o 4-M5x0.8Px8DP 86
2 N V)é/ 74
° 60
o @ i o 4 II
? o
o i : 2N
[+ ¢ | sl [ ] w0 ]
L1 60
5.7 L2 n SECTION A-A
— (m-1)xK 151.8
10 N 1 A l
[N R e o &
100 ’ ! 60 ‘
2xn-®5.5THRU, ®9.5x4.7DP 2202 520 ASPXADP 1336
(n-1)x100
Rail Length | TotalLength | )0 r=z0 Bellows length I E#4EE (mm)
HIBKE E=S Minimum length of | Maximum length of |~ G(mm) K(mm) n Mass E£ (kg)
L2(mm) L1(mm) bellows F/ME4EE | bellows ExX{H4EE
150 261.7 13 66 25 100 2 2 1.6
200 266.7 19.5 110 50 100 2 2 2.0
300 366.7 35 195 50 200 3 2 2.6
400 466.7 49.5 278 50 100 4 4 3.2
500 566.7 59.5 370 50 200 5 3 3.8
600 666.7 75 455 50 100 6 6 4.5
A+
CKB0-FR A%
5 Unit 84Z: mm
4-M5x0.8Px8DP %‘ 2x2-M3x0.5Px6DP
s
o 86
o @ o 7
° 5| q o 9 T
8 OQHWQ; of 8- (T I
N o
ﬂ] 30 15
60
SECTION A-A
[y —] é#
S L1
55.7 L2 il
o (m-1)xK 1518
; g IRRAERCCERACRET TN ] ]
] AN R ©
100 ‘ J» ' 60
2xn-05.5THRU,$9.5x4.7DP. 2xm-M2.5x0.45Px4DP. 133.6
(n-1)x100
Rai Length | TotalLength | oy )0 /= Bellows length P EH%EE (mm)
HEKE ESS = | "Minimum length of | Maximum length of | G(mm) K(mm) n Mass E& (kg)
L2(mm) L1(mm) bellows &//ME4EE | bellows SEA{RIEE
150 261.7 13 66 25 100 2 2 1.6
200 266.7 19.5 110 50 100 2 2 2.0
300 366.7 35 195 50 200 3 2 2.6
400 466.7 49.5 278 50 100 4 4 3.2
500 566.7 59.5 370 50 200 5 3 3.8
600 666.7 75 455 50 100 6 6 4.5

32




Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

) e Light Duty &%
CK60-FD BBl T CK60 Wsthhout cscl)ver AEIPE

Unit 847: mm
54
30
4-M5x0.8Px8DP ] 2x2-M3x0.5Px6DP AY
EXVz 3 % CK60-FO E{lEEx
S S 60
° Pl ° 2 Tl Unit 884Z: mm
— i m 2 fa !
o ) d ° o e N e _2M5x0.8Px8DP 59.6
° ° 4 RN 2x2-M3x0.5Px8DP 2xm-M2.5x0.45Px4DP 2514 2005 5THRU 09 5x4.70P
¢ ry ¢ ul 30 15 42 Yy i
] 60 = = ==
— N (m:Z)XK " SECTION A-A Q 3% ﬂ:& @ — @ #: * 75 @ — a <+ = o
100 3| 31 A o o - °
L L i I Fg%ﬁ?qfﬁ[ [ & & 4l 1 B & ik
o 0 (© 0 2-M2.5%0.45Px3DP ! 10x1.50P Lol |
. G 100 u‘_‘ | :E o SECTION A-A (K = s
HE 2xn-5.5THRU,$9.5x4.7DP L 2xm-M2.5x0.45Px4DP o o & Al L2 7
(n-1)x100 |5
1 :
4'M4;(0:.;AP;8DP — 5390 -
=, H ﬁ 4MSOSPAEDP " |82,
% w?“ oA i 8h7
; ° ; fD — i == — q % ~— VIEWB
Rail Length | Total Length P Bellows length IFE(HRFEE (mm) 05 5/ osl ; = = ’E §
HIERKE ESN Str?nﬁiﬂ?& Minimum length of | Maximum length of | G(mm) K(mm) n m Mass E& (kg) r - Y, r w L~ s
L2(mm) L1(mm) bellows B/ME4EE | bellows BAMIES ews o
150 261.7 50 13 66 25 100 2 2 1.6
ggg ;22; 196% 13'55 gg 28 ;gg g g ;g Rail Length | Total Length Maximum Stroke & X175 (mm) Mass B2 (kg)
: - BiKE 2K . . G Ki . .
400 466.7 230 495 278 50 100 4 4 3.2 Fﬁgﬁfﬁ% U(nJ::m) Block S1 18/ Block S2 /8 (mm) (mm) n m Block S118/ | Block S2 /B
500 566.7 310 59.5 370 50 200 5 3 3.8 150 220 85 34 25 100 2 2 14 16
600 666.7 380 75 455 50 100 6 6 4.5 200 270 135 84 50 100 2 2 17 1.9
300 370 235 184 50 200 3 2 2.3 2.5
400 470 335 284 50 100 4 4 2.9 3.1
500 570 435 384 50 200 5 3 3.5 3.7
600 670 535 484 50 100 6 6 4.1 4.3
Unit 84z: mm
596 2-M5x0.8Px8DP
2xm-M2.6x0.45Px4DP. 28 2xn-05.5THRU,$9.5x4.7DP
14
42 2x2-M3x0.5PX8DP % ¥ a\z\ 1
30 ( ; ] -
@ k ~ od ¥ T —b]v*
I T -
’ e & o 1P & i
:g 5 2-M2.5x0. lSF‘xBDP 10x2.2DP 16|
100
SECTION A-A
(m-1)xK G
7 L2 7
L1
4-M4x0.7Px15DP 18 16
59.6 1 [ 15 9]
4 ¢ ] —A — o8
(10 =i -
N © 93z ] 5 5 5 — 9
8 s P 05 :
:”7@? ? Il S5 = =
33 100 —— A G
VIEW B (n-1)x100
Rail Length | Total Length Maximum Stroke f& X742 (mm) Mass &= (kg)
BiKE 2K | . . N
s | ek | Booksimm | Bookszgm | O | KO " ™ | Block ATiBEE | Block A2 FBEE
150 195 85 34 25 100 2 2 1.3 15
200 245 135 84 50 100 2 2 1.6 1.8
300 345 235 184 50 200 3 2 2.2 2.4
400 445 335 284 50 100 4 4 2.8 3.0
500 545 435 384 50 200 5 3 34 3.6
600 645 535 484 50 100 6 6 4.0 4.2

33 34



Single—Axis Robot CK Series

VERTEX AUTOMATION TECH CO.,LTD

Ax Ax
CK60-FL Bl CKB0-FD EB# T3
i Unit 4Z: mm
Un‘t i,{i mm 2.M5x0.8Px8DP 2-M2.5x0.45Px3DP
e F 2xn-05.5THRU,9.5x4.7DP 53{;6 2250 45Px4DP
| 2-M2.5x0.45Px3DP ’ﬁT 2x2-M3x0.5Px8DP
Le—— % . 2xn-05.5THRU,9.5x4.7DP o \@ : = é A
3 o 2-M5X0.8PXEDP 28 2xm-M2.5x0.45Px4DP — _— j
- T | - 4y / 2x2-M3x0.5Px8DP o T :J—@_Q o[+ @ b
¥ T L2 L 2 1 30 | B f
+ :]—@ f )j@ @ % B o -EL 10x2.20P
— — E[ 8 31 N ol o 7 G - (m-1)xK
g 17N q;j % D — % 2" 402 155 L2 7
=T 1 ! 30 15 L
-E- 10x2.2DP 60 _ﬂ.
— SECTIONA-A [ A
7 [ (m-1)xK —P B 3
402 15.5 L2 7 D —— ¥
= ‘ o g0
o A T
M be G 100
?:F@ A (n-1)x100
== ol N E
i i | {3 > o s %
0.5 H
Ll L Ly [ O ©] ©) B — %
G 100 A— ! 60 736 ——
(n-1)x100 136.6
Rail Length | Total Length Maximum Stroke X174 (mm) Mass &= (kg) Rail Length | Total Length Maximum Stroke f&xX1742 (mm) Mass &E2 (kg)
BKE ES N . N N N BIKE 2K . . . .
s | LEhy | Booksimm | Bookszge | O | KO " ™ | Block S1iBEE | Block S2 i s | ey | Booksimm | Bookazgm | O | KO " ™ | Block STiBEE | Block S2 BEE
150 216.7 85 34 25 100 2 2 1.3 1.5 150 216.7 85 34 25 100 2 2 1.3 1.5
200 266.7 135 84 50 100 2 2 1.6 1.8 200 266.7 135 84 50 100 2 2 1.6 1.8
300 366.7 235 184 50 200 3 2 2.2 24 300 366.7 235 184 50 200 3 2 2.2 24
400 466.7 335 284 50 100 4 4 2.8 3.0 400 466.7 335 284 50 100 4 4 2.8 3.0
500 566.7 435 384 50 200 5 3 34 3.6 500 566.7 435 384 50 200 5 3 3.4 3.6
600 666.7 535 484 50 100 6 6 4.0 4.2 600 666.7 535 484 50 100 6 6 4.0 4.2
Ax
CKB0-FR EBHlG%
1 Unit 84Z: mm
40.2 15.5 L2 7
7 G (m-1)xK
6 100
+r w
+f & BEEERE @ »j 5
— — U
+ n @ R+ ;@\ @ * 8 3.1 ﬁ R ES
8 e r . _ﬁi . & 2x2-M3x0.5Px8DP i 2 15
596 2xm-M2.5x0.45Px4DP 60
2xn-®5.5THRU,®9.5x4.7DP SECTION A-A
2-M5x0.8Px8DP
11
a,. . 4 ) ©
Ll [N | O o o g o
G 100 A ‘ i
736 60
(n-1)x100 138.6
Rail Length | Total Length Maximum Stroke f& X178 (mm) Mass B (kg)
BRKE ESN . N . s
DS | BNy | Boosimm | Bookszgs | O | KO " ™ | Block S1iBEE | Block S2 B
150 216.7 85 34 25 100 2 2 1.3 1.5
200 266.7 135 84 50 100 2 2 1.6 1.8
300 366.7 235 184 50 200 3 2 2.2 2.4
400 466.7 335 284 50 100 4 4 2.8 3.0
500 566.7 435 384 50 200 5 3 34 3.6
600 666.7 535 484 50 100 6 6 4.0 4.2

35 36



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

nght Duty Eéﬁ K60-FL o
CK60 With cover &= CKBO-FL Bl

Unit 8fZ: mm
e
CKBO-FO FayLERk 7
l— _2M5x0.8P¥8DP 5Z§ 2xm-M2.5%0.45Px4DP
50.6 Unit %@Z mm 2x2-M3x0.5Px6DP ’ﬁ—‘ 2xn-05 5THRU, 9 5%4.7DP 86
. 2-M5x0.8Px8DP. 28 3l e % 74
74 2xm-M2.5x0.45Px4DP "‘_A_ 2xn-®5.5THRU,®9.5x4.7DP [T U U A &
64 y . . Y n @ @ d + l: @ & |=—— ]‘
] © @ Rl i — — s 1 Pany
iy Nt
? (T@h @ . il H % ] @] & &1 AP @ E QFQL ﬁq—e[ﬁ q
o R = UL i
I D “[ [ i & @ qQLely & G L .. Al [ o]
lf o s 100 n 60
50 2¢2-M3x0.5Px6DP %ﬂ oL 7 s (m-1)xK SECTIONAA
SECTIONAA wzk 402 15.5 12 7
- - L1
(m-1)xK G A— N . 151.8
7 L2 7 . " . . —1
L1 o qJ—X
ArMA;g SEEBDP s E Fé ék 5 |_A “ \J
4-M3x0.5Px8DP 183, %05 . 05 o e o
i ;0043 155, Ll [ L | :i o) © —
= f y P — A ) RINLI N oan7 G 100 A 60 736
L ; a:j La — (0-1x100 1386
; —_ = I, — q ffJ# % - VIEWB
05 ©
r : = = = ’E\ i Rail Length | Total Length Maximum Stroke f&xX1742 (mm) Mass &E2 (kg)
o~ * BIKE 2K N N G K N N
e e s | LEhy | BoksigE | Boks2mm (mm) (mm) " ™ | Block STiBEE | Block S2 BEE
150 216.7 85 34 25 100 2 2 1.5 1.7
Rail Lonath | Total Lendin W Stroke B v ET AT 200 266.7 135 84 50 100 2 2 1.8 2.0
GEkE | e 2vimum Strcks EATSEE (mim) Gmm) | Kmm) N . ass B8 (kg) 300 366.7 235 184 50 200 3 2 24 26
LZ(mmX) LA (mm) Block S1/8EE Block S2 igEE Block S1/8EE | Block S2 igEE 400 466.7 335 284 50 100 4 4 3.0 32
150 220 35 34 25 100 2 2 16 18 500 566.7 435 384 50 200 5 3 3.6 3.8
200 270 135 34 50 100 2 2 19 21 600 666.7 535 484 50 100 6 6 4.2 4.7
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 5 3 3.7 3.9
600 670 535 484 50 100 6 6 4 4.6
Ax
CK60-HO CKB0-FR EBilA%=
Unit 8847: mm Unit 847: mm
86 | 2-M5x0.8PxeDP 402 155 5 L2 7
74 2xm-M2.5x0.45Px4DP — 2xn-95.5THRU, ®9.5x4.7DP . e (meApK
o o5 100 8 86
— [ '] = — W 7* 16, =
I & @ @ f hs b @ & 64
g |0 N f— - I [
grﬁ % UV *?Q—F d o N @ h @ 9| 1]
R EE & & O @ M |— 2 oD [[]Yh
sl | ] w [ 1 = @ e+l ) i @ g - ~ Rk
60 2x0-M3x0.5PX6DP LA s H 7
[s] . [} K] o
SECTIONAA 100 E 14& 2xm-M2.5x0.45Px4DP L%'Li
7 (mL‘Z’XK & 7 —_556 2x2-M3x0.5Px6DP SECTION A-A
L1 2xn-05.5THRU,®9.5x4.7DP 2-M5x0.8Px8DP
500 4-M4x0.7Px15DP . . 1’\55 1—:— A— A 151.6 —
s 4}7; T — | ’m . Op OL _
3 ) /QB\ a=® 5 — fé ‘;% q %fj % — VEWSB I N o) © @\;
2 P o ° 5 b o
A .ﬂ@)*#\ Wi osp | == = = — 4 Lo —— =
i i LA 100 736 60
33 100 G (n-1)x100 138.6
VIEW B (n-1)x100
Rail Length | Total Length Maximum Stroke f& X178 (mm) Mass B (kg) Rail Length | Total Length Maximum Stroke f& X742 (mm) Mass B2 (kg)
EKE E=3S . . . . JERNES S . . . .
DS | BNy | Boosimm | Bookszgs | O | KO " ™ | Block S1iBEE | Block S2 B s | ek | Booksimm | Bookszgm | O | KO " ™ | Block STiBEE | Block S2 /BEE
150 195 85 34 25 100 2 2 1.5 1.7 150 216.7 85 34 25 100 2 2 1.5 1.7
200 245 135 84 50 100 2 2 1.8 2.0 200 266.7 135 84 50 100 2 2 1.8 2.0
300 345 235 184 50 200 3 2 2.4 2.6 300 366.7 235 184 50 200 3 2 2.4 2.6
400 445 335 284 50 100 4 4 3.0 3.2 400 466.7 335 284 50 100 4 4 3.0 3.2
500 545 435 384 50 200 5 3 3.6 3.8 500 566.7 435 384 50 200 5 3 3.6 3.8
600 645 535 484 50 100 6 6 4.2 4.7 600 666.7 535 484 50 100 6 6 4.2 4.7

37 38



Single—Axis Robot CK Series

VERTEX AUTOMATION TECH CO.,LTD

Light Duty 12k

CK60-FD FBil T CK60 with Bellows sgin=

w0 Unit 84Z: mm
2 MBX0.8PXEDP 28 2x2-M3x0.5PX6DP
— SRS N
2x-5.5THRU,$9.5x4.7DP g 2xm-M2.5x0.45Px4DP. 32 C K6 O - F O EE*ILEE*

M '] ] y:] 64

e ® QUTTH @ @ I Unit 84z: mm

@ @ @ ﬂ‘7( + }—‘ﬂ @ N g - o[y 2-M5x0.8Px8DP
L il 86

28
14
ol [ % ] 3 30 |15 74
100 B 60 3 W

T G (m-1)xK SECTION A-A 60 o o
40.2 155 L2 7 Al
L1 LJ 4 I ] © o
A = =

0
m 30 15

23

=

|

il | i
T
mﬁ
%{

Tm

T
as

o

3 ©

- L1 ] :L & 2x2-M3x0.5Px6DP
3 - G 100 ‘ A— § SECTION A-A
™ (n-1)x100 o o B N =
E A-MA;(?: g;gapp L2 59
[ e % 4-M3x0.5Px8DP L = 15;05
Y PCD40 100 s
— ) Y - VYV 8h7
110 [ A —
2 \_l il ¢ H { { w Ll § -~ VEEWB
| s A & 050 E g
Rail Length | Total Length Maximum Stroke & X172 (mm) Mass & (kg) r N N 5 r f == == == ]
\é < g < ) o N N 2xn-®5.5THRU,®9.5x4.7DP
i = Block ST | Blocks2ies | o | KmMm) " ™ | Block S138EE | Block S2 18 o250 5P e i = &
L2(mm) L1(mm) VIEWB (n-1)x100
150 216.7 85 34 25 100 2 2 1.5 1.7
200 266.7 135 84 50 100 2 2 1.8 2.0 Rai Length | Total Length Bellows length P Ef#4aE (mm)
ail Leng otal Leng pa— FEE
800 366.7 235 184 o0 200 S 2 24 26 HEBKE 2K Stroke {572 Minimum length of | Maximum length of | G(mm) K(mm) n m Mass B (kg)
400 466.7 335 284 50 100 4 4 3.0 3.2 L2 (mm) = ey = e
(mm) L1(mm) bellows f/M#4E= | bellows &AHMEE
500 566.7 435 384 50 200 5 3 3.6 3.8 150 220 70 6 86 25 100 > 5 16
600 666.7 535 484 50 100 6 6 4.2 4.7 200 270 15 235 128 50 100 > B 19
300 370 180 36 216 50 200 3 2 2.5
400 470 250 51 301 50 100 4 4 3.1
500 570 330 61 391 50 200 5 3 3.7
600 670 400 78 476 50 100 6 6 4.3
Unit 8fZ: mm
28
86 _M3x( x L 2-M5x0.8Px8DP
;z 2x2-M3x0.5Px6DP \%{
o) o]
o [ il ° o
EiakeE s L
- 18] alg o o
L o
ﬂ] 30 15
60
SECTION A-A L1
L2
4-M4x0.7Px15DP (m-1)xK G 18 16
59.6 100 j 9]
@) WAUEERER AR IR s
g ?Q 2 e Jiﬂ 5 — VIEWB
I INZE 0 73
:E©$ ? © :ﬁ [ =i je i =i
33 2xn-05.5THRU, ®9.5x4.7DP L 100 IS
VEWE 2xm-M2.5x0.45Px4DP
(n-1)x100
Rail Length | Total Length | g\ o /=0 Bellows length P E(#%EE (mm)
NEKE 2K (mm) = [ Minimum length of | Maximum length of | G(mm) K(mm) n m Mass & (kg)
L2(mm) L1(mm) bellows &//MB4EE | bellows RAHMEE
150 195 70 16 86 25 100 2 2 1.5
200 245 115 23.5 128 50 100 2 2 1.8
300 345 180 36 216 50 200 3 2 2.4
400 445 250 51 301 50 100 4 4 3.0
500 545 330 61 391 50 200 5 3 3.6
600 645 400 78 476 50 100 6 6 4.2

39 40



VERTEX AUTOMATION TECH CO.,LTD

CK60-FL HHlA3

CK60-FD BBl =

Single—Axis Robot CK Series

e Unit 847: mm
28 j 2-M5x0.8Px8DP 86
ol o 2x2-M3x0.5PX6DP ZQ
0 T
° ° 2 yan !
i L o oL \\ N
o o JUERE % 2"
ﬂ[ 30 15
60
SECTION A-A
L1
55.7 L2 "
G (m-1)xK 151.8
100 —
0TE] (T I Y oe .
N N A 12 el g o —dd
& 100 ‘ J» 2xm'M2,5x045Px:DP « 133.6
2xn-05.5THRU,®9.5x4.7DP
(n-1)x100
Rail Length | TotalLength | gy o /=0 Bellows length IPERFEE (mm)
NERKE 2K (mm) Minimum length of | Maximum length of | G(mm) | K(mm) n m Mass E& (kg)
L2(mm) L1(mm) bellows f/ME4EE | bellows RAHMEE
150 261.7 70 16 86 25 100 2 2 1.6
200 266.7 115 23.5 128 50 100 2 2 2.0
300 366.7 180 36 216 50 200 3 2 2.6
400 466.7 250 51 301 50 100 4 4 3.2
500 566.7 330 61 391 50 200 5 3 3.8
600 666.7 400 78 476 50 100 6 6 4.5
Ax
CK6B0-FR BBl A%
Unit 84Z: mm
2-M5x0.8Px8DP
2x2-M3x0.5Px6DP
"
o o 60
07 il ) ﬁ I]_
: Ol
ol o 16l o
R N H “f’%
31
— S
L SECTION A-A
]
~ L1
55.7 L2 1
G (m-1)xK 151.8
100
O 1A CREMERAEHALI
: Iy )
i AN 128 ©
G 100 ‘ ! &0
2xn-05.5THRU,9.5x4.7DP 2xm-M2.5x0.45Px4DP
(n-1)x100
Rail Length | TotalLength | gy 4552 Bellows length IPEH%EE (mm)
hEKE ESS (mm) = [ Minimumlength of | Maximum length of | G(mm) K(mm) n m Mass E& (kg)
L2(mm) LA(mm) bellows /M2 | bellows fRABEE
150 261.7 70 16 86 25 100 2 2 1.6
200 266.7 115 23.5 128 50 100 2 2 2.0
300 366.7 180 36 216 50 200 3 2 2.6
400 466.7 250 51 301 50 100 4 4 3.2
500 566.7 330 61 391 50 200 5 3 3.8
600 666.7 400 76 476 50 100 6 6 4.5

41

Unit 84Z: mm
2x2-M3x0.5Px6DP 2-M5x0.8Px8DP 86
%
1Y i % il
: : A HEb ro
o ol o
1y f‘w
ﬂ] 30 15
L1 60
557 L2 1 SECTION A-A
G m-1)xK
100
I IR AT o
g o O ¢~
uN] [EN uE, 132
a G 100 ‘ L ' o
= g 2xn-®5.5THRU,$9.5x4.7DP. 2xm-M2.5x0.45Px4DP k|
(n-1)x100 o
== ﬁ% E
PE—|—
———
60
RailLength | Total Length | g\ o /=0 Bellows length IFE(RFEE (mm)
HERKE ESN (mm)jz Minimum length of | Maximum length of | G(mm) | K(mm) n m Mass E& (kg)
L2(mm) L1(mm) bellows F/MB4EE | bellows RAHEE
150 261.7 70 16 86 25 100 2 2 1.6
200 266.7 115 23.5 128 50 100 2 2 2.0
300 366.7 180 36 216 50 200 3 2 2.6
400 466.7 250 51 301 50 100 4 4 3.2
500 566.7 330 61 391 50 200 5 3 3.8
600 666.7 400 76 476 50 100 6 6 4.5
42



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

Standard rifE
Without cover #A&iP=

CK86—-FL HHlA3

CK86

Unit 84z: mm

,
CK86-FO EB#lEEX I | e |
E 116
Unit 84 mm :Z 4-M6x1Px12DP
116 g s ZNZSO0ASPXADE 2x2-M4x0.7Px10DP
2x2-M4x0.7Px10DP ZM250 45PHADP 75 4-M6x1Px12DP 7 T T
2550 45PXADP 15‘:_52—DP 2x-06 6THRU,®11x6DP h @ @;% -3 # 73 @
" i ¥ T+ in — — L 2
0 : id S| | KACE ) & Fan | ey | S —
< \ — _— B E +
N ]g(%\r 2 ‘m[ 8 gl % 0 i 75 2x0-06.6Thru,@11x6DP. 15x2.20P i os
Z o J @ @ e 4l ¢ 2 @ " 6.5 H 200 2xm-M2.5x0.45Px4DP
46 20 | 45 ‘ L (m-1)x200 s
86 6.5 75 . i
SECTION A-A 200 H 65 Eﬂ%} A ° (? (%
(m-1)x200 87 [ i |} gl 3 [
4-M50.8Px10DP = 50 d 05 ] © o o)
PCD70 28 E Ji @ @ o (O ©,
13 18 10n7 100 —A !
AT — 20 70 (n-1)x100 86 945
S I I N == ] o ® 702 L2 1805
: B . — b= TS X | — | = 3 § . VEW L1
1 05 + + +
{ #7 T - A T 100 T Rail Length Total Length Maxi Stroke &xAf71E M B2 (k
41450702607 oo . EaflLE%nf% o} a/\;;ng aximum Stroke & A1TEE (mm) o) . . ass & (kg)
e w2 Lé?mmx) Lﬂ?mm) Block A1 8 Block A2 /81 Block A1/8EE | Block A2 /82
L1
340 423.2 210 100 70 3 2 5.6 6.4
440 523.2 310 200 20 4 3 6.8 7.6
Rail Length Total Length Maximum Stroke f& X174 (mm) Mass &£ (kg) 540 6232 210 300 70 5 3 79 57
B 2K : : H : : : : :
Eﬁ%ﬁg L) Block A1 /B Block A2 B (mm) " m Block A13BEE | Block A2 B 640 7232 510 400 20 6 4 9.1 9.9
340 440 210 100 70 3 2 5.7 6.5 740 823.2 610 500 70 7 4 10.3 111
440 540 310 200 20 4 3 6.9 7.7 940 1023.2 810 700 70 9 5 11.5 12.3
540 640 410 300 70 5 3 8.0 8.8
640 740 510 400 20 6 4 9.2 10.0
740 840 610 500 70 7 4 10.4 1.2
940 1040 810 700 70 9 5 11.6 12.4
Ax
CK86-HO CK86-FR BBl A3
Unit 847: mm Unit 84Z: mm
2-M2.5%0.45Px4DP 16 4-MBx1Px12DP {10200
2x2-Mx0.7Px10DP 2xm-M2.5x0.45Px4DP ZZ 2xn-06.6Thru, ®11x6DP. 67‘55 | H 200 ‘ 15x2.20P 2xm-M2.5x0.45Px4DP
-
° & = = ? 0 e #] = o AL °]
L © y: Bl f | L %
qJ {\ ® | r . -l:h—\ 0 — x|
¢ %L ;}—[ J ———— | — e i n 0
g 12 o 49 ml l @ & & b |+ & 7 @ H . - @& w&i ¥ & | [ & .
46 20 A451 ‘$ R 2 ‘(Oj 2xn-06.6Thru,®11x6DP 2-M2.5x0.45Px4DP J» 65
86 L«L 15x2.2DP 75 .
SECTIONAA 200 H 65 D 4-M6x1Px12DP 17156 2x2-M4x0.7Px10DP SECTIONAA
4-M5x0.8Px12DP (01200 23 28 I ﬂ
85 |20 | _18
40 13
 — ES 107 = NES
&K\%/ o I d} i = 1| 2Nl
< o — i x| | L g © z | — iy o : \
mg@\y@glw g| il : - : 0 g — views . ] n d @ D @&!
4 & 05 . | 05 ° o
© [¢) [ uE; i uE; uE; : = [ Q ©b o B ©l
j AL 100 100 1A % t
(n-1)x100 70 20 70 (n-1)x100 945 86
= 702 2 180.5
L1 L1
Rail Length Total Length Maximum Stroke & X178 (mm) Mass B (kg) Rail Length Total Length Maximum Stroke f&xX1742 (mm) Mass B2 (kg)
BiE < N N H N N Bi<E ESN N N H N N
s L) Block A /BEE Block A2 B (rrm) " " Block A1i8EE | Block A2 JBEE Bl L) Block A1 /B8 Block A2 BEE (rom) " " Block A18EE | Block A2 {BEE
340 404 210 100 70 3 2 5.6 6.4 340 423.2 210 100 70 3 2 5.6 6.4
440 504 310 200 20 4 3 6.8 7.6 440 523.2 310 200 20 4 3 6.8 7.6
540 604 410 300 70 5 3 7.9 8.7 540 623.2 410 300 70 5 3 7.9 8.7
640 704 510 400 20 6 4 9.1 9.9 640 723.2 510 400 20 6 4 9.1 9.9
740 804 610 500 70 7 4 10.3 "A 740 823.2 610 500 70 7 4 10.3 14
940 1004 810 700 70 9 5 1.5 12.3 940 1023.2 810 700 70 9 5 1.5 12.3

43

44




Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

B " Standard R
CK86-FD Eaif| T4 CK86 with cover Sip=

Unit 847: mm
116
-M: 0.45Px4DP 75 4-M6x1Px12DP. A
2xn-6.6Thru,®11x6DP 46 2x2-M4x0.7Px10DP. C K86_ FO %*J-LEH*
M hd — —= = = — hd A 60
i i haans R bEad N ¢ i | 4 Unit &z mm
— 7[ f 5 ™ o (\ 16
. @, @ | | + | | @, A e B %[ o 2x2-M3x0.5PX6DP :Z 4-M6x1Px12DP
5 | x 4 2 ﬂ[ 100 2xm-M2.5x0.45Px4DP. & 2xn-$6.6THRU,$11x6DP
aslln saze. /) Jles P [—m— : M -
‘ - (m-1)x200 SECTIONA-A Il = “ F\ .@ «@ :[ + W f
‘ 502 20 L2 13| [ : 8| _Fs (\ @L ] 7 N N [77%}57f 8
J § ﬁgﬂbe 1 Y & el Y
L 05% 3 46 20 g] S ++ O s
86
§ q E 200 H ‘ ‘ 65
N (n-1)x100 SECTION A-A
0| (m-1)x200 87
E—%&ﬂ: 8 4-M5x0.8Px10DP 2 28 >
PCD70 a3, A— I
%3: 18, 107
= | = o ¥
@ o5 D : — ; — : (il 2| 3 — VIEWB
r T T T T
AL
Rail Length Total Length Maximum Stroke X172 (mm) Mass &= (kg) (n-1x100 o0 B
\é |~ tx,, |~ N N R R 4-M4x0.7Px8DP
?szmﬁn; L1§(Er:(m) Block A1 /B Block A2 B H(mm) " m Block A138EE | Block A2 /B Pobed “u
340 423.2 210 100 70 3 2 5.6 6.4
440 523.2 310 200 20 4 3 6.8 7.6 Rail L = Toml L N Viax Stoke B NViass BE (k
540 6232 410 300 70 5 3 79 8.7 gﬂ@?fg ota/i\éngt aximum Stroke & A1TEE (mm) Hemm) . . ass & (kg)
640 723.2 510 400 20 6 4 9.1 9.9 L2(mmx) L1 (mm) Block A1 /8 EE Block A2 /8EE Block A1/BEE | Block A2 /B2
740 823.2 610 500 70 7 4 10.3 1.1 340 440 210 100 70 3 2 65 73
940 1023.2 810 700 70 9 5 11.5 12.3 440 540 310 200 20 4 3 78 36
540 640 410 300 70 5 3 9.0 9.8
640 740 510 400 20 6 4 10.3 1.3
740 840 610 500 70 7 4 11.6 12.4
940 1040 810 700 70 9 5 13.0 13.8
Unit 84z: mm
__2x2-M3x0.5Px6DP 171: 4-M6x1Px12DP
112 46
100 2xm-M2.5x0.45Px4DP ﬂﬁr' 2xn-06.6Thru,®11x6DP
9% S &
1 = = Y hd hd
== F & & WMol I
3 (1 | I o h—
J b 9 o — 1 ||P N
e A r o tdellell 4
:Z 20 ﬁ[ $ Py $ s
SECTIONA-A 200 H
4-M5x0.8Px12DP — 28 28
85 20 | 18
13 —
ﬁj{ 1 " 13“1 ®10n7
|
3 f \< d 8 — - o— £
gI ) \J* [€] z] M= ; - e
o * e [ =) T e n8]
! A — 100
(n-1)x100 70
L2
Rail Length Total Length Maximum Stroke f&xX1742 (mm) Mass &= (kg)
Bi<E ESN . N . .
Bl Litmm) Block A1 /B8 Block A2 BEE A(mm) " " Block A18EE | Block A2 {BEE
340 404 210 100 70 3 2 6.4 7.2
440 504 310 200 20 4 3 7.7 8.3
540 604 410 300 70 5 3 8.9 9.7
640 704 510 400 20 6 4 10.0 11.2
740 704 610 500 70 7 4 11.3 12.3
940 1004 810 700 70 9 5 12.7 13.7

45 46



VERTEX AUTOMATION TECH CO.,LTD

CK86-FL B3

CK86-FD EE#l 3=

Single—Axis Robot CK Series

Unit 8Z: mm
2x2-M3x0.5Px6DP #u 4-M6x1Px12DP
2xn-6.6Thru, O 11x6DP. %_‘
T LS |EADEA
] & 4 SlolJell &
75| [ & ++ & |
6.5 H 200 2xm-M2.5x0.45Px4DP
(m-1)x200
L1
} 50.2 20 L2 — 13|
| | \ p
| I IF B 1] ¢ N
u 0.5
EE 100 A 8
70 (n-1)x100
— E
J—
Rail Length Total Length Maximum Stroke &xX1742 (mm) Mass B2 (kg)
BKE ESS . . H . .
B o) Block A1 /B Block A2 iBEE (mm) " " Block A1i8EE | Block A2 {BEE

340 423.2 210 100 70 3 2 6.4 7.2
440 523.2 310 200 20 4 3 7.7 8.3
540 623.2 410 300 70 5 3 8.9 9.7
640 723.2 510 400 20 6 4 10.0 1.2
740 823.2 610 500 70 7 4 1.3 12.3
940 1023.2 810 700 70 9 5 12.7 13.7

Unit 847: mm
I
1] 12
- 116 2x2-M3x0.5Px6DP 190
1 7 %&
46 4-M6x1Px12DP
: k=] 2xn-C Thru,®11x6DP 8 @ = =
g g m D6.6Thru, ®11x6! J%T}C;V — . %\ n
T = ¥ = s N ¢ Ta
. ¢ L3 | EAUEay I 2 il == ASER
L — 7% ; 46 20 ﬁ[
@» t ¢ hs ¢ g @» @ SECT:)SNA'A
75 || [& ++ & ]
H 200 2xm-M2.5x0.45Px4DP
(m-1)x200
— n
E = =
j o %
‘r* T \\7 = gl %
7. b o T,
e = + o [ o, 6 odo ©
100 A i
20 70 (n-1)x100 86 945
70.2 L2 1805
L1
Rail Length Total Length Maximum Stroke f&X1742 (mm) Mass &£ (kg)
BiE ESN . . | .
B o) Block AT {BEE Block A2 BEE H(mm) " " Block ATiBEE | Block A2 FEE
340 423.2 210 100 70 3 2 6.4 7.2
440 523.2 310 200 20 4 3 7.7 8.3
540 623.2 410 300 70 5 3 8.9 9.7
640 723.2 510 400 20 6 4 10.0 1.2
740 823.2 610 500 70 7 4 1.3 12.3
940 1023.2 810 700 70 9 5 12.7 13.7
Ax
CK86-FR Bl a%
Unit 8fz: mm
(m-1)x200
65 H 200 2xm-M2.5x0.45Px4DP i
%ﬂ‘ [& ++ & 100
90
] & - AR i & —
g 7 5 8 AUy
. & & + il & Tk Vs s
2xn-®6.6Thru,®11x6DP j¥ j;t<} 46 20 ﬁI
f 4-M6x1Px12DP :g 2x2-M3x0.5Px6DP 86
| o SECTION A-A
0
— A 13
i I
T © @) 9
ll [C) | E— = g @ L
Lr ol g o 3 A
1 [ & © o
A 1
100 - 94.5 86
20 70 (n-1)x100
70.2 L2 1805
L1
Rail Length Total Length Maximum Stroke & X178 (mm) Mass B (kg)
BKE < N N N N
s Litm) Block A /BEE Block A2 B H(mm) " " Block A1i8EE | Block A2 JBEE
340 423.2 210 100 70 3 2 6.4 7.2
440 523.2 310 200 20 4 3 7.7 8.3
540 623.2 410 300 70 5 3 8.9 9.7
640 723.2 510 400 20 6 4 10.0 1.2
740 823.2 610 500 70 7 4 11.3 12.3
940 1023.2 810 700 70 9 5 12.7 13.7

47

48



VERTEX AUTOMATION TECH CO.,LTD

Standard #rifE
CK86 With Bellows S{h4gipE

CK86-FO EBHEEX

CK86—-FL HHlA3

[

Single—Axis Robot CK Series

Unit 84z: mm

Unit 847: mm
:;é 2x2-M3x0.5Px6DP rﬁ AMEX1Px120P
% — &~ &
. © o (=) o
Il o
2| g I L J ]7—\ Ee
3| } ‘Gm E
i R ie ——
46 20 Q o G ++ O
86
L1
13 L2 87
4-M5x0.8Px10DP (m-1)x200 20 23 50
PCD70 200 28
2xm-M2.5x0.45Px4DP 18 D107
3 o ‘W o 2
1 3 .0 ! = 3 8l vews
’( r e = me) e
2xn-®6.6THRU,®11x6DP L 100
4-M4x0.7Px8DP (n-1)x100 70
VIEW B PCD60
Rail Length Total Length Stroke 572 Bellows length IPE(#4EE (mm)
HIBKE =S (mm) Minimum length of Maximum length of H(mm) n m Mass EE& (kg)
L2(mm) L1(mm) bellows &/ MER4EE bellows ZXfHFEE
340 440 160 38 200 70 3 2 6.5
440 540 240 49 289 20 4 3 7.8
540 640 320 59.5 378.5 70 5 3 9.0
640 740 390 75 463 20 6 4 10.3
740 840 460 89 549 70 7 4 11.6
940 1040 610 114 724 70 9 5 13.0
Unit 8fz: mm
75
12 2x2-M3x0.5Px6DP % 4-MBx1Px12DP
100
% . <
) o
¢/ o
2 ) L:ﬁ &) UL L ]
ol | *J_QG o
} "[ e e BE
46 20 ﬁI iL oﬂ} +|e
86
SECTION A-A
L1
13 L2
4-M5x0.8Px12DP (m-1)x200 H 2 =
85 200 ‘ 20 18,
40 2xm-M2.5x0.45Px4DP. 13
— ®10n7
7N il i
Qe — =
of ] (o8] 05 ; — &|— VEWB
l o * * 5 [ T an e, T
’ 2xn-06.6Thru,®11x6DP L 100
(n-1)x100 70
Rail Length Total Length Stroke 572 Bellows length IPE#H4EE (mm)
HEBKE 2K (mm) Minimum length of Maximum length of H(mm) n m Mass E& (kg)
L2(mm) L1(mm) bellows f/MEZER bellows AHgEE
340 404 160 38 200 70 3 2 6.4
440 504 240 49 289 20 4 3 7.7
540 604 320 59.5 378.5 70 5 3 8.9
640 704 390 75 463 20 6 4 10.0
740 804 460 89 549 70 7 4 11.3
940 1004 610 114 724 70 9 5 12.7
49

75
[ — 46 2x2-M3x0.5Px6DP 12
100
§ . ’TET 4-MBx1Px12DP %
N o ¥ & i
Mo o © o] 4 u o
g i € N
ol = «_6 =]
- T TR
° ° ° ° 46 20 ﬁ[
© ++ © T &
U SECTION A-A
50.2 20 L2
H (m-1)x200 ‘ 1935
200 2xm-M2.5%0.45Px4DP t
— || Il
Il A
. o ] q | =
= = r o6l oo 5
100 2xn-06.6 THRU,®11x6DP 86 945
70 (n-1)x100 180.5
RailLength | Totallength | g e /512 Bellows length IFE(RFEE (mm)
HBKE E=S (mm) Minimum length of Maximum length of H(mm) n m Mass E& (kg)
L2(mm) L1(mm) bellows /MBS bellows EAXRIEE
340 423.2 160 38 200 70 3 2 6.4
440 523.2 240 49 289 20 4 3 7.7
540 623.2 320 59.5 378.5 70 5 3 8.9
640 723.2 390 75 463 20 6 4 10.0
740 823.2 460 89 549 70 7 4 11.3
940 1023.2 610 114 724 70 9 5 12.7
Ax
CK86-FR BBl A%
Unit 8fZ: mm
& ++ & 12
o Q o o 100
90
I I T
D
N " NP
g o Lo Q [¢] o 8 & i
2 g & R X l oy e qj[
8 46 20 |45
:: 2x2-M3x0.5Px6DP =
[ SECTION A-A
| B — =
50.2 20 L2
H (m-1)x200
‘ 200 2xm-M2.5x0.45Px4DP.
= M. oy
. Dluw °| bp )
Q ©,
2xn-®66Thru.®11x6DF§ T ! o5 86
100
70 (n-1)x100 180.5
RailLength | TotalLength | g o=z Bellows length P E(#4EE (mm)
HEKE NS (mm) = Minimum length of Maximum length of H(mm) n m Mass ZE& (kg)
L2(mm) L1(mm) bellows &/ME4EE bellows &XHEE
340 423.2 160 38 200 70 3 2 6.4
440 523.2 240 49 289 20 4 3 7.7
540 623.2 320 59.5 378.5 70 5 3 8.9
640 723.2 390 75 463 20 6 4 10.0
740 823.2 460 89 549 70 7 4 11.3
940 1023.2 610 114 724 70 9 5 12.7

50



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

_ = Light Dut Eéﬁ
CK86—-FD H#l T CK86 Wsthhout cscl)ver AEIPE

Unit 8Z: mm
75
46 2x2-M3x0.5Px6DP AY
Y CK86-FO EHER
e
’ ’ Unit 84 mm
ERANN 2-M2.5%0.45Px4DP & 2-MBx1Px12DP
43 ——
2x2-M4x0.7Px10DP 2xm-M2.5%0.45Px4DP 2xn-©6.6THRU,011x6DP
© ° 15x2.2DP 215
| 0 Ji { -
L1 hd
502 __ 20 12 Fﬁ, . @ @: \i :@ @L d
H ‘ = (m-1)x200 g$® ( N — ] S A i
2xm-M2.5%0.45Px4DP ? — ®
L i P— %—m[ 3[ E O O 0
I T e 1l e = = =
™ 46 20 ﬂI na At
e — E @ 86 6.5 L 7.5
EE b SECTIONA-A 200 H 65
70 (n-1)x100 ol (m-1)x200 87
D; ; il 7 N 5 4—M5>;0C%F;)(()10DP 23 - 50
13 18 h
ﬂgtt A A - i
- 62 3 3 = | S E\( T g I
D = (! 9| 3 —-—— VIEWB
86 1 05 ¥ ¥ ¥
'F :— T =] o ]
A
RailLength [ Total Length [ gy o\ o /=re Bellows length JPEM4EE (mm) e (w0 - w0
HIBKE £ (mm) Minimum length of Maximum length of H(mm) n m Mass &= (kg) VIEW B PCDS0 =
L2(mm) L1(mm) bellows B/IMBES bellows SAHEE u
340 423.2 160 38 200 70 3 2 6.4
440 523.2 240 49 289 20 4 3 7.7 Rail Length Total Length Maximum Stroke g A47F2 (mm) Mass B (kg)
540 623.2 320 59.5 3785 70 5 3 89 MEKE 2K : - H(mm) n m : .
640 7232 390 75 463 20 6 4 10.0 L2(mm) Lﬂ(mm) Block S1 8/ Block S2 /& Block S1 78/ Block S2 /8
740 823.2 460 89 549 70 7 4 11.3 340 440 246 170 70 3 2 5.4 5.9
940 1023.2 610 114 724 70 9 5 12.7 440 540 346 270 20 5 3 6.6 71
540 640 446 370 70 5 3 7.7 8.2
640 740 546 470 20 7 4 8.9 9.4
740 840 646 570 70 7 4 101 10.6
940 1040 846 770 70 9 5 1.3 11.8
Unit 84z: mm
2xm-M2.5x0.45Px4DP. 84
15x2.2DP 4 2-M6x1Px12DP
2x2-M4X0.7Px10DP. 2-M2.5%0.45Px4DP 215] 2xn-$6.6Thru,$11x6DP
60
46 Ld - . ¥
= P =
wg@{\ i . s — éfﬁb i — Eid Gl 4
AL B ml G- o 1+ | P & i
46 20 ﬁ[ &
86 L«L 75
SECTION A-A 200 H 6.5
4-M5x0.8Px12DP (1200 23 28
85 L2 | 18]
rLj ES = 10h7
P e o
g KY g g — | = — | jiﬂ é VIEW B
g[ o \&/ oz = ; ; B &
+ ¢ 0s ;
@) O I e =8, =) T
« A — 100
(n-1)x100 70
L2
L1
Rail Length Total Length Maximum Stroke f&xX1742 (mm) Mass &= (kg)
Bi<E ESN . . H . .
Bl Litmm) Block S1 88 Block S2 BEE (rom) " " Block S178F | Block S2 /BEE
340 404 246 170 70 3 2 5.3 5.8
440 504 346 270 20 4 3 6.5 7.0
540 604 446 370 70 5 3 7.6 8.1
640 704 546 470 20 6 4 8.7 9.3
740 804 646 570 70 7 4 10.0 10.5
940 1004 846 770 70 9 5 12.0 1.7

51 52



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

Ax Ax
CKB86—FL EBHlA% CK86-FD Bl &
Unit 847: mm Unit 84Z: mm
84
m 43
15x2.2DP 2-M6x1Px12DP
D 2-M2.5%0.45Px4DP rgﬁ 2x2-M4x0.7Px10DP.
— 84 ¥ — == — Y
. : = a0 S | zweseioe L gl B A |
g g 2-M2.5x0.45Px4DP 215 | 2x2-Mx0.7Px10DP 62 0 @r é}[: o ] @ 7
__2M25045Px4DP _ 2AbOTPRIO0P .
3 — » _ L — % 1
b ‘@’ @:if :@ ‘@’ e g{!@ () } H —L BThru,ztDogstP 2xm-M2.5x0.45Px4DP J’ﬁ
_ . — K ol 3[ 8 (m-1)x200
I 0 4
L1
H @ ﬁc + [ jﬁ» @ 46 20 g[ 1 50.2 20, L2 13|
7.5 2xn-06.6Thru,®11x6DP 2xm-M2.5x0.45Px4DP ’L 65 SECiTONA»A Lh “—A —
65 H 200 R [ [y = | A B
(m-1)x200 1 o 0.5
A - ° (o © 8 =l 100 A % ? r
Eﬁ I c g : 0 et
= - | 8| 3 o
0 Ny o) al \ . E—%ﬁ:
= - ) G od9 O D%t
100 - A ' tﬂj
20 70 (n-1)x100 — — -
70.2 L2 180.5
L1
Rail Length Total Length Maximum Stroke f&X1742 (mm) Mass B2 (kg) Rail Length Total Length Maximum Stroke K172 (mm) Mass &= (kg)
BKE ESS . . N . BKE < . . . .
B o) Block S1i8EE Block S2 &k Hmm) " " Block S1i8EE | Block S2 BEE s L Block S1 i8R Block S2 BEE () " " Block 178 | Block S2 {BEE
340 423.2 246 170 70 3 2 5.3 5.8 340 423.2 246 170 70 3 2 5.3 5.8
440 523.2 346 270 20 4 3 6.5 7.0 440 523.2 346 270 20 4 3 6.5 7.0
540 623.2 446 370 70 5 3 7.6 8.1 540 623.2 446 370 70 5 3 7.6 8.1
640 723.2 546 470 20 6 4 8.7 9.3 640 723.2 546 470 20 6 4 8.7 9.3
740 823.2 646 570 70 7 4 10.0 10.5 740 823.2 646 570 70 7 4 10.0 10.5
940 1023.2 846 770 70 9 5 12.0 1.7 940 1023.2 846 770 70 9 5 12.0 11.7
Ax
CK86-FR Bl a%
Unit 8fz: mm
(m-1)x200
6.5 H 200
75 l 2xn-06.6Thru,®11x6DP . 2xm-M2.5x0.45Px4DP
K3 T %] 0
g A Qg [ 5* & =
; — : P ) ro!
= el F— TR
T [215] 15%2.2DP 65 46 20 ﬂI
2-M6x1Px12DP. 2x2-M4x0.7Px10DP 86
ﬂ 4 SECTION A-A
84 2-M2.5x0.45Px4DP
1
tl]j 13
I A o) op ©
® i I —— % Y o
=
i : o & - G
100 - A !
20 70 (n-1)x100 945 86
70.2 L2 1805
L1
Rail Length Total Length Maximum Stroke & X178 (mm) Mass B (kg)
BKE < N | N N
s Litm) Block S1iBEE Block S2 B H(mm) " " Block S1i8EE | Block S2 BEE
340 423.2 246 170 70 3 2 5.3 5.8
440 523.2 346 270 20 4 3 6.5 7.0
540 623.2 446 370 70 5 3 7.6 8.1
640 723.2 546 470 20 6 4 8.7 9.3
740 823.2 646 570 70 7 4 10.0 10.5
940 1023.2 846 770 70 9 5 12.0 1.7

53 54



Single—Axis Robot CK Series
VERTEX AUTOMATION TECH CO.,LTD

Light Duty 12k
With cover &=

CK86—-FL HHlA3

CK86

Unit 84z: mm

[—
CK86-FO Ha#LEgE :
| 84 100
i “321 . 2M6x1Px120P F-
Unit 84z: mm g T sousomeoe ===l
84 @ 8| 2xn-®6.6Thru,®11x6DP "7’}/’/
= 2-M6x1Px12DP i T E T 2 VanY @L I
- 2x2-M3x0.5PX6DP s __2-M6x1Px12D0P e —F = ¥ Tk \\Yj T
100 2xm-M2.5x0.45Px4DP »yé}r:. 2xn-06.6THRU, D 11x6DP b @ @ e :@ @’ "’T m 0 J 2| "’l i
m . . I I 46 20 | 45
= = hd 1 hd ] [ 0
“ F% “ E @ @* vle *@ @ [ﬂ ol @ @»— i ? @ @ sEchsoGN AA
g AUy f— e p— O N ¢|
*F N ¢ C'l o [m ] 0 - 2xm-M2.5%0.45Px4DP
N H i2l 17 6.5 H 200 xm-M2.5%0.45Px:
| @ e L[4 & i
46 20 ﬁI -—A N
e q: - I
SECTION A-A 200 H ‘ ‘ 6.5 E Ju :? on
e 87 ‘)— T \\7 — 8 N
4—M5>;0Cl8]F;>é‘\DDP E— = % 0 0 05 ] [ o A ©
™ T 18 ®10n7 00 A E % r & G ot 2
B 20 70 (nT)xﬂ)O 86 94.5
= L= ol ? 70.2 L2 180.5
: f d —— —— ‘ i 8l 8 - vews o
4 05 2
{ r == =2 == == —
‘:4;0 100 " Rail Length Total Length Maximum Stroke &xX1742 (mm) Mass &2 (kg)
HX0TP JELNES ESHN N . N .
vews | eoe™ . B o) Block S1/8EE |  Block S2 B H(mm) " " Block S138EE | Block S2 i8R
340 423.2 246 170 70 3 2 6.2 7.0
440 523.2 346 270 20 4 3 7.5 8.3
Rail Length Total Length Maximum Stroke f& X174 (mm) Mass &£ (kg) 540 6232 246 370 70 5 3 87 95
HBKE ESN . . H(mm) n m N R : : :
L2(mm) LA(mm) Block S1 B Block S2 /g Block S1/8EE | Block S2 /8 640 723.2 546 470 20 6 4 10.0 1.0
340 440 246 170 70 P 2 6.3 74 740 823.2 646 570 70 7 4 1.3 121
440 540 346 270 20 3 3 76 8.4 940 1023.2 846 770 70 9 5 12.7 13.5
540 640 446 370 70 5 3 8.8 9.6
640 740 546 470 20 6 4 101 111
740 840 646 570 70 7 4 1.4 12.2
940 1040 846 770 70 9 5 12.8 13.6
Ax
CK86-HO CK86-FR BBl A%
Unit 8fz: mm Unit 84z: mm
i: (m-1)x200
. 2x2-M3x0.5PX6DP 215 2-M6x1Px12DP 65 H 200
xm-| X( X 112
WQDOD 2xm-M2.5x0.45Px4DP "7&"’ 2xn-®6.6Thru,®11x6DP %ﬂ‘ ¢I 2L SQASPHADE 19000
= = A = ! h @+
) [+ +&r1e ¥ A S ) T —_—
3 fan 4 p— r p— L o s - - 3 A U,
;FG ¢ %I %l 5| 0 i A @:‘ i A | Y 9 e
il e RS @ vo | | & 3 & ICss; e ! I I e eﬁ”[”
5 20 ﬁ[ i:k = T 2xn-06.6Thru,®11x6DP JﬁL — 2x2-M3x0.5PX6DP . 20 | 45
86 | 215 2-M6x1Px12DP 86
SECTION AA 200 H g - SECTIONAA
4-M5x0.8Px12DP. (m-1)x200 23 28 I 84
85 20| 18 g
rL’\ ™ A HY 107 S /A FH
*# ¢ r I i © © = = J7
3 [ g 8 — - — ul J—ﬂ 2 ] ¥ \ =
o j— §|— views © N — — 8 o |
IR 2 ENIN = = = 1 G 1. I~ q
o ) [ u, o u, , - o) o a
i Al— 1 A 1
(n-1)x100 ® 70 100 . 945 ‘ 86
20 70 (n-1)x100
L2 702 12 180.5
L1 "
Rail Length Total Length Maximum Stroke & X178 (mm) Mass B (kg) Rail Length Total Length Maximum Stroke f&xX1742 (mm) Mass B2 (kg)
BRE < . . . . BKE ESN . . . .
s Litm) Block S1iBEE Block S2 B H(mm) " " Block S1i8EE | Block S2 BEE Bl L) Block S1 88 Block S2 BEE A(mm) " " Block S178F | Block S2 /BEE
340 404 246 170 70 3 2 6.2 7.0 340 423.2 246 170 70 3 2 6.2 7.0
440 504 346 270 20 4 3 7.5 8.3 440 523.2 346 270 20 4 3 7.5 8.3
540 604 446 370 70 5 3 8.7 9.5 540 623.2 446 370 70 5 3 8.7 9.5
640 704 546 470 20 6 4 10.0 11.0 640 723.2 546 470 20 6 4 10.0 11.0
740 804 646 570 70 7 4 11.3 121 740 823.2 646 570 70 7 4 11.3 121
940 1004 846 770 70 9 5 12.7 13.5 940 1023.2 846 770 70 9 5 12.7 13.5
55 56




VERTEX AUTOMATION TECH CO.,LTD

CK86-FD Bl T~

CK86

CK86-FO EEtNEEX

Light Duty 12
With Cover P&

Single—Axis Robot CK Series

o Unit 8Z: mm
2x2-M3x0.5Px6DP 4;1_i —2:M6x1Px12DP
2xn-6.6Thru,®11x6DP P%ﬁ 2xm-M2.5x0.45Px4DP 2
h & B 0% &
\
Y L1 &
751 3
6.5 H
(m-1)x200
L1
‘ 50.2 20, L2 1
[ —A
L] | \ p
| = g N
0.5
g3 ~ 5
70 (n-1)x100
—
p——
Rail Length Total Length Maximum Stroke X172 (mm) Mass &= (kg)
BIKE < . . | |
?szmﬁn; u%(m) Block S1 18 Block S2 /B () " " Block S138EE | Block S2 /B
340 423.2 246 170 70 3 2 6.2 7.0
440 523.2 346 270 20 4 3 7.5 8.3
540 623.2 446 370 70 5 3 8.7 9.5
640 723.2 546 470 20 6 4 10.0 11.0
740 823.2 646 570 70 7 4 1.3 121
940 1023.2 846 770 70 9 5 12.7 13.5
57

Unit 847: mm
43
112 —2M6x1Px120P_ 250 20-M3x0.5Px6DP
‘9000 B o
U - —
g ® L— 3|
g ] $Gﬂ E E HEIE SR R RIS HH =
. ”I o I —
46 20 g iL ° ° °
86
L1
L2 87
(m-1)x200 20 23 50
200 2
2xXm-M2.5x0.45Px4DP 18, ®10n7
: ;[ [T — |ME=STIFF .
[ =] w e =]
f _zmoserrruotieoe |||
4-M4x0.7Px8DP (n-1)x100 1
VIEW B PCD60
RailLength | Totallength | g o /=zo Bellows length {FE(HFEE (mm)
HEKE 2K (mm) Minimum length of Maximum length of H(mm) n m Mass B & (kg)
L2(mm) L1(mm) bellows &/MEB4EE bellows &EX{R4EE
340 440 190 40 230 70 3 2 6.5
440 540 265 52.5 317 20 4 3 7.8
540 640 340 65 405 70 5 3 9.0
640 740 410 80 490 20 6 4 10.3
740 840 485 92.5 577 70 7 4 11.6
940 1040 630 120 750 70 9 5 13.0
Unit 84z: mm
43
12 2-MBx1Px12DP "21_5' 2x2-M3x0.5Px6DP
100 "?%f"
920
] i P ’
sl —
o —~6 =3
m[ ”l 7 "[
ﬁr Q Q )
86
SECTION A-A L
L2
4-M5x0.8Px12DP (m-1)x200 H 2 z
85 200 20| .8,
40 2xm-M2.5x0.45Px4DP 3 w10n7
Py ) @ ]
e el Il [ERT A s
o « 05 +
I o) * ¢ [ [ ) w ) )
* 2xn-®6.6Thru,®11x6DP L
100
(n-1)x100 70
RailLength | Totallength | g e /55 Bellows length " E(#4&E (mm)
HBKE E=S (mm) Minimum length of Maximum length of H(mm) n m Mass EE& (kg)
L2(mm) L1(mm) bellows &/ME4EE bellows &XHEE
340 404 190 40 230 70 3 2 6.4
440 504 265 52.5 317 20 4 3 7.7
540 604 340 65 405 70 5 3 8.9
640 704 410 80 490 20 6 4 10.0
740 704 485 92.5 577 70 7 4 11.3
940 1004 630 120 750 70 9 5 12.7

58




VERTEX AUTOMATION TECH CO.,LTD

CK86-FL B3

Lj

2-M6x1Px12DP

i

s
o = 2x2-M3x0.5PX6DP
P 8 —eeee—
2| g
Mo o o )
° o ° )
R
502 20 L2

(m-1)x200

200

2xm-M2.5%0.45Px4DP.

Unit 8fz: mm

315

68
32
3
-
&l
N\
Ls
0

CK86-FD Bl T~

43
215

2-M6x1Px12DP
2x2-M3x0.5Px6DP

Single—Axis Robot CK Series

Unit 847: mm

[ ] 90
2 f s ] 5
of of -8 o
L. R
L1 46 20 ﬂ[
50.2 20 L2 £
H | - (m-1)x200
1| 2xm-M2.5x0.45Px4DP E i|
I [T O e J:
o = [ i
E E 100 2xn-6.6Thru,®11x6DP T [ 2
70 (n-1)x100 ° J
; = op Q&) g
ﬂ%ﬂ: N
|
62
86
Rail Length | Total Length P Bellows length P E#45E (mm)
HIEKE 2K Str?nﬁ?)ﬂi Minimum length of | Maximum length of | G(mm) K(mm) n m Mass E£ (kg)
L2(mm) L1(mm) bellows B/MEZEE | bellows ABEE
340 423.2 190 40 230 70 3 2 6.4 1.5
440 523.2 265 52.5 317 20 4 3 7.7 1.8
540 623.2 340 65 405 70 5 3 8.9 2.4
640 723.2 410 80 490 20 6 4 10.0 3.0
740 823.2 485 92.5 577 70 7 4 1.3 3.6
940 1023.2 630 120 750 70 9 5 12.7 4.2

"
EMMT | IO, M iian:
- 0. B g | o
= = ‘ r ol o 5
100 2xn-06.6Thru,®11x6DP 86 95
70 (n-1)x100 180.5
Rai Length | Total Length | o o i Bellows length IPEfR4EE (mm)
HEKE ESN (mm) = [ Minimumlength of | Maximum length of | G(mm) K(mm) n m Mass E& (kg)
L2(mm) LA(mm) bellows f/MEFEE | bellows fRAHBEE
340 423.2 190 40 230 70 3 2 6.4 1.5
440 523.2 265 52.5 317 20 4 3 7.7 1.8
540 623.2 340 65 405 70 5 3 8.9 2.4
640 723.2 410 80 490 20 6 4 10.0 3.0
740 823.2 485 92.5 577 70 7 4 11.3 3.6
940 1023.2 630 120 750 70 9 5 12.7 4.2
A+
CK86-FR BBl A%
Unit 84Z: mm
112
100
o o o ?‘ 90
[
i —
of <l -
% g Lo o o J |42 N
.liL 2x2-M3x0.5Px6DP 46 20 QI
ﬂ &5—‘ 2-M6x1Px12DP *
43
L1
L2
(m-1)x200
200 2xm-M2.5x0 45Px4DP
T 1] N
d 0.5 y ¢ o o)
% [ Q o
100 2xn-®6.6Thru,®11x6DP T ! %5 86
70 (n-1)x100 180.5
RailLength | TotalLength | gy o 4=so Bellows length IPEH%EE (mm)
hEKE ESS (mm) = [ Minimumlength of | Maximum length of | G(mm) K(mm) n m Mass E& (kg)
L2(mm) LA(mm) bellows /M2 | bellows fRABEE
340 423.2 190 40 230 70 3 2 6.4 1.5
440 523.2 265 52.5 317 20 4 3 7.7 1.8
540 623.2 340 65 405 70 5 3 8.9 2.4
640 723.2 410 80 490 20 6 4 10.0 3.0
740 823.2 485 92.5 577 70 7 4 11.3 3.6
940 1023.2 630 120 750 70 9 5 12.7 4.2
59

60



Single—Axis Robot CK Series s
VE tEX VERTEX AUTOMATION TECH CO.,LTD

CK100 Standard txifE CK130 Standard trift

CK100-FO EB#1EEX ( Without cover 7&1#3 ) CK130-FO EB#1.EEB% ( Without cover A& )
Unit 8843z : mm= Unit 43 mm=
ZE T y 2;}nM2.5xD.A5PanP . 2 fji’ { 4 ;z.mgmku 14x8.5DP '—Jr '/_JPTMML l S 2 %:: l ;D ,®17.5x10.
Pl { @ }f{i ® FEXCEANG @E D: ﬁ & ”/ @ | ;4{% Eaul @m, 1]
[T 1A e | e Alsms D @ i e 11 | = 1} =
o 1=ld ? i ; £ e 4 ;
sscl:’gm.n LI . 8 _E LL[ T . @ f] ! @ - & hi @’ 45
(m-1)x200 . o 200 H ] )
(m-1)x200

r —A “’—2_2: ' —A —B;E ‘%5}”
i o= O M I ! i
B H‘ i Hﬂm:lz»—q [ 18 ews g | Il H l u;l 22— e 2% s
1 + + + — & L - - . — &
{—m | m—— oy ol P e 0 i
A s | 1f 1 -
(n=1)x150 G (m=1)x150 G
VIEW B L2 L2
Rail Length | Total Length Maximum Stroke SAfTEE (mm) Mass E& (kg) Rail Length | Total Length Maximum Stroke SAfTEE (mm) Mass E& (kg)
HBKE 2K . N G(mm) | H(mm) n m N . HEKE ESN G(mm H(mm n m
L2(mm) Li(mm) Block Mg | Block A2iBEe Block A1 B2 | Blook A2 B L2(mm) Li(mm) BockATRE | BockAzmE | o | M Block A1 B | Block A2 B
980 1089 828 700 40 90 186 20.3 980 1098 811 659 40 90 5 29.4 32.3
1080 1189 928 800 15 40 8 6 20.3 22.0
2 . 2
1180 1289 1028 900 65 90 8 22.0 23.7 &0 1298 1om 859 65 %0 6 343 3
1280 1389 1128 1000 40 40 9 7 236 253 1380 1498 1211 1059 %0 90 7 392 421
1380 1489 1228 1100 15 90 10 25.3 27.0 1680 1798 151 1359 90 40 " 9 46.5 49.4
CK100-FO H#lEEX ( With cover 21F% ) CK130-FO E#lEEx ( With cover &1 )
Unit 847: mm Unit 84Z: mm
b R m-M: (0.45Px4DP + 2xn=011THRU, ®17.5x10.5DP
2xm-M2,5%0,45Px4DP Tr 2xn-PITHRU,P14x8.5DP m N -é-
" 3 F = 7 i : y i
@ TS
s | © fietde [ # 7 | ® | @ s e # 4 (T
1/ = I~ h—. 9 E i 5 E
ii s it | y L
o] @ Il @ e ® 1o} ] & H & D || @ @ [
1t G ++ B 4 i ) Rl
‘ 200 H =T 130 4 T & 12 ||
(m=1)x200 200 H ]
(m-1)x200
4-M5x0.8Px10DP &MB;!CT;E‘\DIQDP
) . . " - P
1L [ €]
— | L 22 | Na——— D15h7
. | U e f?'/ I | “ H g = i
& ﬁ\ j]‘r 1 o T gl —H ‘l £ E o ﬁ 911 fffj' '"ﬂ_‘ u 1 MIE EE VIEW B
. R " . ol L g — vews R R R — 8 —
A ’ 8] | T i ! K f 2 — I Al 0
A 1m0 L. M—
l {n-1)x150 G {n-1)x150 A
Rail Length Total Length Maximum Stroke fx X172 (mm) Mass &= (kg) Rail Length Total Length Maximum Stroke AT (mm) Mass E£& (kg)
HIBKE < . . G(mm) | H(mm) n m - - HBKE ESN G(mm H(mm n m
L2(mm) L1(mm) Block A1 jB Block A2 iB & Block A1TBEE | Block A2 jBEE Lz(mmx) L1(mm) Block A1 8 Block A2 i8EE (mm (mm) Block A1i8EE | Block A2 iBfEs
980 1089 828 700 40 90 7 5 20.4 221 980 1098 811 659 40 90 5 31.9 35.9
1080 1189 928 800 15 40 8 6 22.2 23.9
1 12 101 A 1.1
1180 1289 1028 900 65 90 8 6 24.0 25.7 80 % 0 859 65 %o 6 37 4
1280 1389 1128 1000 40 40 9 7 25.7 27.4 1380 1498 121 1059 90 90 7 42.2 46.2
1380 1489 1228 1100 15 90 10 7 27.5 29.2 1680 1798 1511 1359 90 40 " 9 49.9 53.9




VERTEX AUTOMATION TECH CO.,LTD

1.10 Motor Housing andMotor Adaptor Flange ZiA S SikBkEE=

CK40

Motor Housing ZiXEE FO

PCD29 4-M3x0.5Px6DP

Mi==mr 9@4
S g [oo L el

Motor Adaptor Flange Siki&EiEx= F1
49 8.5 3 4-M4x0.7Px8.5DP ,PCD46
‘ ‘ ! [ N
o [ Jri 'Z.'; = o,

@)
s
L)

h7

24
220 0. 03‘
30

|

23079%
040

220

CK50

Motor Housing ZiXEE FO

60
14 325 PCD33 4-M3x0.5Px6DP
15
1]
i ™~ 5
U s .
X 5
=0 ERI: R
7 | T ~ % T 52
— LRGN
! ®
“|

Motor Adaptor Flange SikiEEx= F1

60 85 PCD46  4-M4x0.7Px8DP
3.2
T 5,
— ‘ﬁ_, | 22 ‘
s T 8D : i
s W I J

Motor Adaptor Flange SZiXiER L= F2

60 8.5 PCD45_ 4-M3x0.5Px8DP

et FEL
fa

w

oY

‘ @303
740

==

95°

63

Motor Adaptor Flange Biki&EiEix= F3

49 7 31
- | | 4@35Thu,
‘* : : :
i
i
i
‘
i
|

D 6x3.5DP

4-M3x0.5P Thru

| 220 |
2223
042

1]

_ [

ee% 0
(©)©)

0.5

Motor Adaptor Flange SikiEEx= F3

49 4-@3.5Thru,
60 ‘ 7 ‘ 31 | @6x3.5DP
T T
U I e [ &
g Y g 4-M3x0.5P Thru
M= | hl 2H le &
_ it ! Q i I
”””” i @ & 4.
4 %

- F‘"% y —494  _ 4M3x0.5Px8DP

CK60

Motor Housing SiXEE FO

59
18.5 30.5 PCD40  4-M4x0.7Px8DP
15.5
9
%
—— .
Lff—'%— £ J =y
3
1] gl . PN | B
JE H 5 S — « 3 \ 0
RTINS H
1 { _ Nlo @ 2 8 o
s &
Y 4-M3x.5Px8DP

Motor Adaptor Flange SiXiERE L= F1

4-M4x0.7Px10DP

3.5 PCD46

2305%
042

Motor Adaptor Flange SikiEtEix= F2

59 10 4-M3x0.5Px10DP
| 35 PCD45
:

Y

—{ | ] g5

N &

HELNE

T

Motor Adaptor Flange ZiXi&EiEix= F3

59 10 4-M5x0.8Px10DP
] 5.
=_— I s =T
—1 D= | || 8% s S
(1 s g
I I i
] ] @

Motor Adaptor Flange ZiXi&ERE L= F4

59 10 4-M4x0.7Px10DP
Pl ‘ 47.14 ‘ /
|

W

238.1159%8
0s7.7

D265 ‘

cdlo 1L

Single—Axis Robot CK Series

Motor Adaptor Flange BikiEEx= F5

4-D3.AThru,
s 5 95 26x4DP
! —
| [ ] 8l ° Q'@e ;
1 ] Sl S
4-M3x0.5PThru
Motor Adaptor Flange ZiXi&EREE= F6
59 15
185 1520'5 — 15 PCDST0 4-M4 Thru
Tl e
o
4@ [ | o8 /
= 0 2
Motor Adaptor Flange BikiEEx= F7
39 faal
185 305 k33 4-N5Thru
1155, PCDB70 _
— %
—ii— iSHRN 7,,315';3 / ®
— J— °l2lo J
— 9
Motor Adaptor Flange ZiXi&EiEix= F8
59 faal
185, 305 L3S 4-M4Th
53, PCDET0 =
2 -
5
—ii— iSHRE 7,,3%3 / ®
— jﬁ = [ | )
i [ o~ — R 2
Mount Housing ZEZEIEE HO
18 16 59.6
15 ‘ 0 ‘ ‘ 33 ‘ 4-M4x0.7Px15DP
l o
| e ; o
L {1 @)
| oo g

@8h7

64



VERTEX AUTOMATION TECH CO.,LTD

CK86

Motor Housing ZiXEE FO

28 4-M4x0.7Px8DP

l
/

S,
)

46

@5075%

23 50

)
|
|
|
.
\
I
L]
T
oo
;
@46
250°5%

62

63

4-M4x0.7Px8DP

Motor Adaptor Flange BikiEtEix= F2

23 50

|
L,
i
.
=
)
5?‘/‘
°/9’V

I
I
I
|
I
I
T
==
‘@30 00
62
B
==
o
( /
\
4.
80|
31

4-M4x0.7Px8DP

Motor Adaptor Flange Biki&EiEix= F3

87 8
23 50

peDi6 -

¥
[|
U‘:
N
|
T
|
—r
}4\
(2303
246
7
L«

63

PCD45
4-M3x0.5Px8DP

Motor Adaptor Flange ZiXiEREE= F4

87 12
23 50
28
1
1—
) ot
% il 2
,,,,, | ©| 3| @
- - 1t 4 S5 @
ﬂ ! 1= 5 m}
N C |
=
y—1
——
@) 35 L PCD90
— 4-M5x0.8Px10DP

65

Motor Adaptor Flange Siki&EEx= F5

87 8
23 50 85
28
T 50
i - ==
!

o o
© w0
O

U‘j
|
|
|
-
I
T
|
T
T::
236"
@46

@@@@%

4-M4x0.7Px8DP q

Motor Adaptor Flange ZiXiERE= F6

62

1L,
=

4-M4x0.7Px8DP —

Motor Adaptor Flange SikiEEx= F7

87 2
23, 50
28
18
» . & iy S
~| N
— 38 g %)\@ =
— — 2l g \ NI
© 4-Mo i @\k\djﬁ?
[& O 1R
) 696

Motor Adaptor Flange Biki&EiEix= F8

12

fee]
o1 <
1=

23

B
|

oV

=

|
|
$46
p70:3%
080
40
_
@“

Do s
45

23_ 28 85
1'230' 18 40 4-M5x0.8Px12DP
==
4 el
=
— | =313
5
— N
~
<
=3
Q

CK100

Motor Housing Si&EE FO

94
27 45
32 99
4-M5x0.8Px10 DP =
22 ~ P.C.D.70 75
N
N
[0 L= &
5 3
= [R5
il 3
— 1 & 1

Motor Adaptor Flange Siki&EiEE= F1

94 12 4-M6x1Px12 DP
3.5 P.C.D.9 - 80
T T T /*\ >
i ! (. 0 ! Ty
T So
©
g =m I 4
— L | Q %J FL Q
[ 1 v
— ? —

Motor Adaptor Flange SikiEEix= F2

94 12

4-M5x0.8Px12 DP

3.5 P.C.D.90 - 80

32

|
\
!: _
46
@70 5%
72
|
S o —
J
=
4.

35_ 35

100 2

Motor Adaptor Flange ZiXiERE L= F2

100 15 _4-M6x15DP 128

Single—Axis Robot CK Series

Motor Adaptor Flange Sikxi&EiEix= F3

94 12
2.5 4-M6x1Px12 DP
e L ! =
4 RSES
1 e ~ NLT R
= R | Q ™, L
= f
Motor Adaptor Flange Siki&EiEix= F4
- 82
94 12
25 4-MBx1Px12DP ‘AM»‘
1 R —- B g
Al < W@ls
Id -~ ©
—_ -1 | ~ 9 i
| S fle——"be
Mount Housing i&EZEIERE HO
59 99

27 32 885

16 ‘32, 75 _

4 el

Q

| e

Motor Adaptor Flange ZiXEE L= F3

128
100 12 4-Méx1Px12DP 92
3.5 .
w .
-1 i E ég
””” 8

Motor Adaptor Flange ZiXEE L= F4

100 12 4-M5x0.8Px12DP 128
3.5

f
|
Il
260
@70:3%

64 128
35_29 121
23 16 100
-~ “
T Ok
1 5 e | o
s ¥ i

66



